<U3UUSULh <ULMUMESNRF3UL

GNG4uL LU1ULh UdUsULh

17 dwpwnh 2017. N 680 -1L

nrnecnhu

GNG4UL LUULP 2016 (FHUYU LN A3NRREN YUSUNUUL
<USUESYNh(a3NhLLE CUUSUSELNN UUUNLL

Lwoyh wnubiin wulwfu wninhnnp «<wjwninhny UNMC-h nwunwdbwuhpniejw
wpryntupubipp W Ggpwywgnip)niun, «Gplwu pwnuwpntd inbnwywu
huptwywnwywpdwu Jdwuht» Lwjwunwuh Lwupwwbwnnypjwu  optiuph 12-pn
hnnwdh 1-hu dwup 17-pn. Yawnpu, 82-pn hnnwdhtu hwdwwwunwufuw'

Gplwu pwnwph wjwqwuhu npnontd E.

1. Cwunwwb] Gpuwu pwnwph 2016 pwywuh pnwth  Juwunwpdwu
hwaytunynyeniup’ hwdwdwju NN 1 - 5 hwwndwdubiph:

2. Unyu npnonudu nidh dbe £ duund wwownnuwywt  hpwwwpwldwup
hwonpnnn twuubipnpn opp:

Gre4UuLh LUTURUMNES S.uurqur3uu



p2pioTiacAlasl
p2@200gk ~UadeCk °T2gasTUCSE T2T28020 1082 ©5U2E
(01/01/2016 - 31/12/2016A. A3U3Y3T3N3TT31¢ N3U=3H)

P3TI=11

of =Y 42O0C 2= -=V4p

2017 AT3T3YC USATG 17-C

N 680-U afaru=y

(R=%=f 1A=0ar)

T3> 13Y NBer3Ti31 &E3Y T3fi» I3 xR i31 4E3Y O3EW360
Ta0C STSUTS e STnfiA Pari=iC AYLI3(»VA 3r Atadl AYL3UnYA 3 Aiaol AVISUnVA 31 ATl
NN NN (6.5+8.6) T3AE3T3Y U3¢ | yay13(cy Use (&.8+€.9) ISfa3T3Y U3¢ | yav1is(gy Use | (8.11+6.12) | I3AE3T3Y U3¢ | yavr3(cy U=e
1 2 3 4 5 6 7 8 9 10 11 12
All 2001A OT12037T1)O - —
1000 |AY- @ "UA ©120a0TU®8 (w40 1100 + &0 78,219,530.5 | 78,209,530.5 | 1,018,301.3 | 75,704,536.0 | 75,694,536.0 | 2,132,089.8 | 77,331,108.2 | 77,312,741.5 18,366.7
1200+7a0 1300) 31 ATadv
1. 237128 ©1 Tatdes°d (a0 1110 + 140
1100 |1120 + 740 1130 + 140 1150 + 140 1160) 7100 | 14,463,118.9 | 14,463,118.9 X 14,223,118.9 | 14,223,118.9 X 14,220,259.0 | 14,220,259.0 X
=) Afasl
A BT SRR AR
1110 | 1L TAOUSICY NSAI>A SYESAA -a00uco (W40 1111+ 7131 | 5286,160.7 | 5,286,160.7 X 5,189,160.6 | 5,189,160.6 X 4,984,968.6 | 4,984,968.6 X
140 1112) 31 ATaou
Taslu=R=aT NSUSIYAY»AC T3RE3T3Y T3A3T0Y»Madl
1111 1Y 140 By Vi ~ BOVAAAIICN=U= 4,634,803.6 4,634,803.6 X 4,537,803.5 4,537,803.5 X 4,352,334.2 4,352,334.2 X
1112 |PAOC N3l NSUSIYUVSFC T=RE=T=Y == lav»fac) 651,357.1 651,357.1 X 651,357.1 651,357.1 X 632,634.4 632,634.4 X
- 0YiTa0 NaoC N=U=h
1120 ;Uf :\T?;U,E Iy NSl Sk -aduco 7136 | 53950917 | 5,395,091.7 X 5,492,091.8 | 5492,091.8 X 5769,489.6 | 5769,489.6 X
1121 | fal03R=3AT ~4E31A3UCGA0Y»AC N3U=f 5,395,091.7 5,395,091.7 X 5,492,091.8 5,492,091.8 X 5,769,489.6 5,769,489.6 X
1.3 2ARASYUY»AC G- T3-4RTU3Y T3U - 4AT46Y»40AI3Y
1130 [GAST3Y=26U3Y A&SlEn Ta0AI=Y Tx3AY»A 7145 3,394,866.5 3,394,866.5 X 3,154,866.5 3,154,866.5 X 3,089,519.6 3,089,519.6 X
=3[ A4l
T»02T3Y TasAu»f (vad
1132 + 140 1135 + 140 1136 + 140 1137 + 140 1138 + 140
1131 1139 + w40 1140 + 40 1141 + 740 1142 + w40 1143 + w40 | 71452 3,394,866.5 3,394,866.5 X 3,154,866.5 3,154,866.5 X 3,089,519.6 3,089,519.6 X
1144+740 1145+740 1146+ w401147+7w40 1148+w40
1149+740 1150) 31 ATasl
=) P3U3{YUC T3AST0ASU YaR B»YU»AG, BCYAGAIAGYY»AC
(Y»i=¢l3E 43 ICUYST3Y) BCY3ASA4AIBY (1»031AU3Y)
182 |3 rasAiSY (SUSH (V40 1133 + 40 1334), 146,099.8 146,099.8 X 146,099.8 146,099.8 X 109,714.6 109,714.6 X
EGo)
1133 [33) PCUYST3Y RCYABAIAGYY»AC NBU3f 146,099.8 146,099.8 X 146,099.8 146,099.8 X 98,319.6 98,319.6 X
1134 |3u) 4 NCUYST3Y BCYAGAIAGYY»AC NBU=A 0.0 0.0 X 0.0 0.0 X 11,395.0 11,395.0 X
1) DSUSIYUC T34 WSA=T040U B»YU»iiC, RCYATAIAGY-C,
US03U3RCY3T3Y 3t QuibT-C I»A3T3646U3Y,
40A»0=26U3Y, M»AST2Y - YUY, BACST3Y36U3Y
135 | o mvaoh (15636 P QwYELREAIS U 63NUY 3T 12,405.0 12,405.0 X 12,405.0 12,405.0 X 4,450.0 4,450.0 X
RCY3ASAA0AIBY AaslET. 4&3N=Y¢iald 1»Au»AC)
T3 3inta0 AdSlET T46AI3Y N30
-) D3UBYUC T2AEST3Y T3A2T040U B»YU»AG,
1136 |BGYAGAIAGYY»AG, U=0SUSRCYST3Y 3k Qui»THY»AC 11,600.0 11,600.0 X 11,600.0 11,600.0 X 12,440.4 12,440.4 X
UBYLU3Y AsHlEr Ta5AI3Y =U=h




1137

1) p203(YUC¢ W2A=TuadU 4 - »ECo EUGAUY»AC ™ (I=3U)
TE=E4WC SATS1ASYUC 1=x360C, CeT NSYA3(CY 6YV2g
Opl»ToY»iasU" &-»ECo EUGEUY»AC — (T3U) TE=E&TC
SATS1{3Y0C Ci=oU=Y AgilEw TasAl=Y N=0=7

358,461.0

358,461.0

358,461.0

358,461.0

353,033.6

353,033.6

1138

») D2USIVUC T=A= 10400 p260AI2 1=x360 13%U= I»N8rEad
AddlEw TasAI3Y N=3U=3h

86,380.0

86,380.0

86,380.0

86,380.0

101,727.4

101,727.4

1139

%) B2U3(YUC 13310400 N»04a5T T3é»ECUC, e»0UT=T
pY=T3Y 130 (»0481T= Y3TAS(CY - 3%»fiC USYASTSE
3EWHC T»»iail M»0a0T T3é»E60C  (I3U) 6»00T=1
W3T3Y T30 (1»085T36 121 YSTASICY - 3y»fiG
THEYCT2T3Y (»0881V»A¢ T=3x360C AdlEr TasAI=Y N=U=h

75,950.0

75,950.0

75,950.0

75,950.0

77,903.6

77,903.6

1140

() B2U=Va¢ w=3A=T0asl =é i, N=YA3ICY eYYac,
BISAX3YUG, R2N4UAT E20»AC ™ ICxSTSE30»AC
T3RUST>AAUBY ui»THY»AA, uB0YCUY»AA (8340Y3Y»MA),
E=037Y»AA A3UA 24.00-C6 N»1a SREST»E4s

RadlEw Ta6AI=Y N=U=i

113,124.3

113,124.3

113,124.3

113,124.3

139,516.5

139,516.5

1141

£) BSUSUSOUSICY ToVATHICY (SUSA=T=6ESY o =7
0=0=0C " 0=0=303(CY N3US(YOY»Ac 1= Tuatl AV isYe
T»Y13YCY»A &=3N»E40 AddlEw Ta0AI=Y N3U=3h

2,395.0

2,395.0

2,395.0

2,395.0

2,415.9

2,415.9

1142

) D=U=VOC T2A= 10400 SATSUCY -AT3%L 1»031inEa
AadlEw TasAI3Y N=3U=3h

1,504,400.0

1,504,400.0

1,264,400.0

1,264,400.0

1,250,603.8

1,250,603.8

1143

A) B3U3IYUC SRECICO +=

SAOASAC AT x»YY»A

3,290.0

3,290.0

3,290.0

3,290.0

2,542.1

2,542.1

1144

A=) B3U3IVUC 33 TuatlU (u3636a0A130p AZ03(0Y
N=US{IYaY»Ac) USATST3A T30640 (1S36364a0AI30p
fA&I0ICY 1 BUECY»AC) T3é63(a0AIasY CASTSY26Y»E4d
TasAl3Y =03

1,240.0

1,240.0

1,240.0

1,240.0

930.0

930.0

1145

A) ASVTSASU D> T3072106 ASTASETTST CRmic
USTA= 3E S64012x360C AGET T4AI=Y =020

50,550.0

50,550.0

50,550.0

50,550.0

48,490.0

48,490.0

1146

A-) 2irar={=y=w»0¢ N=0=i

920,000.0

920,000.0

920,000.0

920,000.0

858,518.5

858,518.5

1147

A1) p=303IYUC w=A=T040U - 1Y 140 E=VasAY»iadl,
TAASTY»ias0 T»EYCTST3Y N»0a0TY»AG 13x3é0¢
RadlEw TasAl=Y N=U=i

21,677.5

21,677.5

21,677.5

21,677.5

22,289.5

22,289.5

1148

A») D3US(Yag TA=T040U N3YASICY eVyag
T=40=T»A80=3Y ~ CA=oU=Y AaslEw TasAl=Y R=0=h

71,293.9

71,293.9

71,293.9

71,293.9

74,143.7

74,143.7

1149

Av) D2[=26T3Y( D2VAZ&»TA0AIBY N3US{YUY»AC
3YT3Ya0UY»AA yCAU3ICY 3Y T=YaiUY»iadu 0 - = - aiT»Eas
AaplEn TasAl=Y (=202

1,000.0

1,000.0

1,000.0

1,000.0

800.0

800.0

1150

Ay 20 T»03T3Y rTasiumh

15,000.0

15,000.0

15,000.0

15,000.0

30,000.0

30,000.0

1160

1.4 2AA3YUY»AC UST3T3ASA40U06 ~ 1363(40A1a0YY»AC
U314a064a6UCo 3 A3AT31CA Tx3AY»i
3(1 ATasU

7146

387,000.0

387,000.0

387,000.0

387,000.0

376,281.1

376,281.1

1161

D3U3{YUC pladic» Tx3iiTad &»3T3Y Tasiimh (rad
1162 + 140 1163 ) 31 ATaoU

387,000.0

387,000.0

387,000.0

387,000.0

376,281.1

376,281.1

1162

3) 30303603 T3Y 13640A1Y 3TT»A - A3Y6rE4s, TAZY6
U=6CY U303U36GY»ACY TATYSTC TT3(3T3YY»A,
UB03036C3T3Y T2640AI13Y ST »Adil T3 T3AT31
-Ai=640UY»Maol +a+aEasAlaYY»f, ERiZ64a0UY»h, 4500460Y»A
T3W3fintad ~ I»AST3Y - VU3Y T3a31640AI30p
TISIBT3YY»i w340 3030

77,000.0

77,000.0

77,000.0

77,000.0

73,394.4

73,394.4

1163

""" TadUgo Yar3ia3T3yY
1=¢63(40A146YY»A T3 3ixE40, YAT3AST3Y T3f-41

I3 1»A36131 +36T3A0AAC TATYAACYSTY»A w340, YRT3T
USAUGYY»AC TA0UCO - AR TSAUY»AC YSES - I»fi -~ 1CUAUY»A

T3YU»Eas, +SETBAORAC AZTx»YV»f NSV»E4d -~ 1ASY6CH

U=0T=[0Y»A w245 N=2U=i

310,000.0

310,000.0

310,000.0

310,000.0

302,886.7

302,886.7




1170

1.5 2[E N2AT3(CY »T3VAT Y »f (rad
1171 + w40 1175) 31
Aiasu

7161

0.0

0.0

0.0

0.0

0.0

0.0

1171

GA»YOAT &»13T3Y plade» 3UA=-ATa0 NSAT»AC ™ 3
ASAW31Gi Tx3AV»iCo U3eN3YasUy»i NBUSIYuY»ic
plase»Y»A (a0 1172 + w40 1173 + wa0 1174)

4ACe’

0.0

0.0

0.0

0.0

0.0

0.0

1172

=) oT=0w=N=A/T

0.0

0.0

0.0

0.0

0.0

0.0

1173

1) P3RaGAZN=AT

1174

-) Gi»YUAT 8»T3T3Y pladc»CY 3UiA= - iTa0 3k NSAT»ACO

A3AT310A Tx3AY»A06 T3 13140 U3eN3YaUY»AA"
lasA=03Yalash T3AT3 A»T3T3Y plade»C USECY af»Yuar
63NU3Y 140 43-+»Aal

0.0

0.0

0.0

0.0

0.0

0.0

1175

pa0c N=ATGC  -adlu=N2ATC - TaT N2U3IVUC plade»
x3ia0Y»AC PY=3 - 3136400 p=263[=(w 31 NSAT3ICY
Ofi»Y&1A&0AI3Y ESETAUY»AC N3U3A NSATS146Y»AC6
-3Y0740 Ta0lA»A —~ Tad- BYUY»f, afaYU a»Y NBRT3ATT400
31 NSAT»AC - 4USAY»AC YTS W U200

0.0

0.0

0.0

0.0

0.0

0.0

1200

2. a2pTal2T20 _5232pUadpU°d (ra0 1210 +
140 1220 + 140 1230 + w40 1240 + w40 1250 + w4a0 1260)
=(1 ATasl

7300

21,967,541.4

21,967,541.4

0.0

19,268,816.5

19,268,816.5

0.0

19,268,468.6

19,268,468.6

0.0

1210

2.1 AYASGOCT SATSUCY A3RWAYSTSY 1ASU3RYAANY»A
eT=201=21 2t &»T4a0AlasYV»ACo = Atasl

7311

0.0

0.0

0.0

0.0

0.0

0.0

1211

DSUSIVUC Wider UATTUS - 740 SAVSUCY A3RTar=T3Y
LABUSRYAANY»A" 6136731 3(E &»1atAlasyYY»AC 1»03T3Y
CYUYST263 123002V USAUCTYACS AVAZOCT T3 E8fC
yoY=Ye=Tafl=Y YA T=Tai

0.0

0.0

0.0

0.0

0.0

0.0

1220

2.2 T2ACT=E SAW=0CY A=3RwaY=T=3Y 1i=0=3RVaiNY»i
36131 3k &»TasAlasyYV»Aco (1
Aiasl

7312

0.0

0.0

0.0

0.0

0.0

0.0

1221

DSUSIVUC iader UATTUS - 740 SAVSUCY A3RTar=T3Y
1ABUSRYAANY»A" 6136731 3(E &»1atAlasyY»Ac T»03T3Y
CYUYST263 123002V USAUCTYAC TSACTSE [SEeniC
yoY=Ye=Tafl=Y YA T=Tai

0.0

0.0

0.0

0.0

0.0

0.0

1230

2.3 AYA26CT 3AW300Y &SR WAYST3Y 1A3U3RYAANY»A’
636131 UCc3%- 3CY T3%UST»ARA0AIAGY Y »fiCo
31 Afaow

7321

0.0

0.0

0.0

0.0

0.0

0.0

1231

D3U3{YUC piade» VAT U= -ATad SAT3UCY A3RTAYST3Y
ABUSRYARNY»A 6T36T3T UCe3%- 3(CY
T3UST»AA40AIA6YY»ACO AYAS6CT TSEé»AC
VCY3Ye3TanaU3Y YA3 w314l

0.0

0.0

0.0

0.0

0.0

0.0

1240

2.4 T3ACTS3E 3AT30CY &3RTAYST3Y 1A30U3RVaANY»A
eT36T31 UCe3%- 3CY T3%U3T»NA40AIA0YY»ACo
3(1 ATasl

7322

0.0

0.0

0.0

0.0

0.0

0.0

1241

D3U3{YUG plade» UAFTu3 - iTad 3AT3UCY A3RTAV3T3Y
1ABUSRYARNY»A 6T36T3T UCe3%- 3(CY
T3U3T»AA40A140YY»ACO TSACTSE ISEE»AC
VCY3Ye3TanaU3Y YA3 w314l

0.0

0.0

0.0

0.0

0.0

0.0

1250

2.5 AYA=6CT Y»AuCY &3BTaY3T3Y 1AS3U3RYAANY»A
ET36T31 T363T3AU3Y 3 UST3/13TY»iCo

(ra0 1251 + 140 1254 + 140 1257 + 140 1258)

EGN

7331

21,967,541.4

21,967,541.4

19,268,816.5

19,268,816.5

19,268,468.6

19,268,468.6

1251

3) a»T3T3Y pladc»Co yCY3Ye3T3Y N2U3NSAA»6U3Y
EThuasYoal Wi3U31i140 1aW=36C3Yri

13,429,755.8

13,429,755.8

13,430,355.1

13,430,355.1

13,430,355.1

13,430,355.1

1254

W) &»T3T3Y plade»Co Th3U31AT40 3 14r=0603Y»f (140
1255 + 140 1256) 3 ATas0

72,449.9

72,449.9

0.0

0.0

0.0

0.0




1255

u3) B3UBYUC plade»C »T3VATTY»AA YT3%»6Y40" DD
Gfi»YUY»AG TCASATUY 3A1{45YuasU N2U3IYUG plase»C
»T3UATTY»AC TaR&se T Y»AC &»TasAl=3Y TadUco

1256

0.0

0.0

0.0

0.0

0.0

0.0

HY) &»T3T3Y plasc»Co N3U3VUG T=3Aa=T3Y plase»Cy
THASBUS1A140 3k 1Aar=36C3Yxii

72,449.9

72,449.9

0.0

0.0

0.0

0.0

1257

-) &»3T3Y plasc»Co N3UBIYUC T2ha3T3Y ulase»CY
30311140 YAST3T3ICY N3 TT=6400Y»
(840UT»YOC3Y»fi)

8,465,335.7

8,465,335.7

5,838,461.4

5,838,461.4

5,838,113.5

5,838,113.5

1258

1) pD 3(E NBUS(YUY»AC uladc»Y»fAco AYAZ6CT TS Eéx»fiC
YCY3VE3Tanl3Y YAST3Tal 6w361a0 &3/ ray3T3Y
1ASUSRYARNY»fi

0.0

0.0

0.0

0.0

0.0

0.0

1260

2.6 TSACTS3E Y»AUCY A3RTAYST3Y 1A303/YAANY»A'
36131 T363T3AU3Y 3 UST3A13TY»AC6 (rad 1261
+ 140 1262) 3{r ATas0”

7332

0.0

0.0

0.0

0.0

0.0

0.0

1261

3) a»T3T3Y plasc»Co TSACT3E I3Ee»AC
JOVVE3T4RUSY YA TTICY NS08V
(BA0UT»YOCZY»H)

0.0

0.0

0.0

0.0

0.0

0.0

1262

1) D9 3(E N3U3YUY»ACo TSACT3E ISEE»AC
YCY3Ye3T4AU3Y YAST3TAT 636740 A3RTaV313Y
1ABUSRYAANY»f

0.0

0.0

0.0

0.0

0.0

0.0

1300

3. 2(E °T2gasTU°d (w40 1310 +
140 1320 + 140 1330 + w40 1340 + w40 1350 + w40 1360 +
140 1370 + 140 1380 + w40 1390)

31 A0

7400

41,788,870.2

41,778,870.2

1,018,301.3

42,212,600.6

42,202,600.6

2,132,089.8

43,842,380.6

43,824,014.0

18,366.7

1310

3.1 TaTaeY»i
=(1 Arasl

7411

0.0

0.0

0.0

0.0

0.0

0.0

1311

GA»YUAT YSE3T1»E 13T 10460 p3YT»Aasu N2U3Yag
plase»G AZU3YST2TaA 3%3T UGGA0Y»AC T»03uSBEAUCH
T 1»A8%CTY»ACO EWSO6T2T TAT483 TX3AY»A

0.0

0.0

0.0

0.0

0.0

0.0

1320

3.2 b3N3u3ACYY»fi
3(1 ATas

7412

114,108.0

114,108.0

114,108.0

114,108.0

150,920.6

150,920.6

1321

“BAY»TCAST3Y AYT»Ra0Al4aoYY»Aasu N2USYac
U3eY=ToasAl3Y 10U=6 N=U3(YuC plase» T3 1=3iTad
U=eN3Y40UY»fi (RBNSuSACYY»fi)

114,108.0

114,108.0

114,108.0

114,108.0

150,920.6

150,920.6

1330

3.3 146luC T3A03T3E40A146YCO » T3UAGWY»A (a0 1331 +
140 1332 + 740 1333 + 140 1334)
3(1 ATasU

7415

947,085.1

947,085.1

787,085.1

787,085.1

924,903.2

924,903.2

1331

D3U3(YUG e»+3T=3Y40Ala0Y N=U=3rT40 NaO»iC
TSROST3LAAIBY T3R0S Tx3AY»i

524,101.0

524,101.0

524,101.0

524,101.0

621,490.5

621,490.5

1332

p303(Yu¢ T2/A=T3Y T3A2 104l -1V T40 &» 1313y
e»+3T3Y40A046Y N=2U=3A140 NAO»AC T2AOST3EA0AISY
303 Tx3AY»f

0.0

0.0

0.0

0.0

0.0

0.0

1333

p303(YuC T2Aa=T3Y T3 104l - Y140 &»adAlsy
N2U3{VUC e»+3T3V45AIBYA &3 T3Y40 Na03U=36x»Ac
T264062&37U3Y GA=TA0YUC 1CU=6 -3Y0T40

=303 I x3AY»A

55,000.0

55,000.0

55,000.0

55,000.0

135,615.8

135,615.8

1334

2[E - a600C T2A0ST3£40A146YCO VAT Ux»i

1340

367,984.1

367,984.1

207,984.1

207,984.1

167,796.9

167,796.9

3.4 D3U3(YUG pladc»C »T3VAGTY»A SAASYUY»AC
U3T3T3130140006 ~* 1=363(40Ala6YY»AG U3 1a064a50Cco
(w40 1341 + w40 1342 + a0 1343)

31 Afaow

7421

36,320,967.3

36,320,967.3

36,904,697.7

36,904,697.7

38,461,157.5

38,461,157.5

1341

D3U3VUC e»+3T3VaoAlasy N=3Y10e=640, 301 ATasl
WCASKAAT, NBUSIYUCY aid»é e»+3T3Va0Alasy 3Y6=31
SARASBYUY»AC (UB6364a0A1=3Up NGUYST3Y UCcad, 44
YIasA=T3Y T30 u3A0A3AA»0 STHCT N3Y1063640, CYadre
y=" (2U3Yuc¢ &=3Nasery»fasl &=NTad
SARSYUSYIAGASTSY Shh»uY»iC) T=Sx360C6 UaTn Uxi

0.0

0.0

0.0

0.0

0.0

0.0




1342

a»TasAl3Y Taluco T»03T3Y GYUY3T363T3AU3Y
USAUCYY»ACY A3 TICASTIST EC31ARAiAIAsY Y»iG
CAST3Y36U3Y IBEe»AC yCY3Ye3Tanal3Y (=03
> T 3T3Y plasc»Co er=261ad UCcadY»ii

36,204,967.3

36,204,967.3

36,774,697.7

36,774,697.7

38,316,576.5

38,316,576.5

1343

afi»Yoar e3N3Y 31 1»80»fail N=BU3jyu3icy
RCUVSATY»AC TA0UC6 26376 10313V TAGRNC - SVOUSY
U31406740 1263(40A040YY»AC T30 T3 127140

- GATAOAIAIASTY=iC 10U=0 6126140 (- 2VOTA0) 3iE
Ix3AY»A

116,000.0

116,000.0

130,000.0

130,000.0

144,581.0

144,581.0

1350

3.5 13AE3T3Y - 3Y04iUY»A
140 1352)

(vad 1351 +
(1 ATasw

7422

3,744,059.8

3,744,059.8

3,744,059.8

3,744,059.8

3,5627,122.2

3,527,122.2

1351

T03T3Y Ix3AY»f

3,494,059.8

3,494,059.8

3,494,059.8

3,494,059.8

3,240,517.2

3,240,517.2

1352

D3U3{YUC T2AE=T3Y TSA=T0ail CYOY3T3U0 136466131
R»YU»AC, BGYABAIAGYY»AC GACYSTIY36U3Y N3U3A 1x3AY»fi

250,000.0

250,000.0

250,000.0

250,000.0

286,605.0

286,605.0

1360

3.6 GaiWUu»h TallA»ACE, Tad- SYUY»ACo
140 1362+ 1401363)

(ral 1361 +
3 Afasy

7431

398,000.0

398,000.0

398,000.0

398,000.0

547,792.7

547,792.7

1361

I3EST3Y CASTSESETAUY»AC N3U3A 1T»03T3Y
CYUYST362T3AU3Y UBAUCYY»AC TadUCo
A3T3EE3Y3TTAAIBY UCGadY»AC TCAS645UCO
»T3VA5TY»f

398,000.0

398,000.0

398,000.0

398,000.0

544,568.6

544,568.6

1362

FETTU»A NBUSYUC plade»G YIS U3 0 r3YOY31

1CU=6 - 2Y07a0 wailA»fico

0.0

0.0

0.0

0.0

3,224.1

3,224.1

1363

D3U3(YUG plade»C VATTU»A 3 CR3TSE3ETAUY»AC
N=U3h Ta0- SYUY»ACo ~ A3 TASUCGA0Y»ACo

0.0

0.0

0.0

0.0

0.0

0.0

1370

3.7 AYA=6CT 43 &3RTaY=T3Y 1a303pVaily»a  (rad
1371 + 140 1372) 3
Atasl’

7441

0.0

0.0

0.0

0.0

0.0

0.0

1371

UCKCTST3Y 3V03Y6 ~ T3%UST»840AI40Y Y»AC
YTGA3p»facAlasyco N2USIYUCY, T»AgCYGE »YAST=

plase» 3Gy NGUYSATY»AC TYAACYUSYY 3Y6=31 - adluc
(NGUY3T=3Y UCcad T3U aa YIaAZT3Y STwCT aN3Y10e=3640)
CA=640UCH ~ 1ABUST3Y UCcadY»iCo AYASCT I3Eex»fiC
yeY3Ye=Tanu=y K202 N=U3Vug plase» ew=6T31
Uadwumi TABUSLATST SATSUCY 30ulasny»Aco

0.0

0.0

0.0

0.0

0.0

0.0

1372

UCHCTST3Y 3V03Y6  T3%UST»&40AIA0YY»AC
YTCA3u»facAlasyco NBUSIYUGY, T»AgCYCE »YAST=
ulase» 1 =ICY NCUYSATY»AC WYAACYUSYY 3Y631 -adluc
(NGUYST3Y UCcad T3U ad YiaA3T3Y STwCT aN3Y10e3640)
Cii=640UC6 ~* 1ABUST3Y UCcadY»fCo AYAZACT TSEex»fC
YCY3Ve3TanU=3yY N303h N3USIVUC plade» 6736131
Uasmrumh® TASUSLATST Y»AucY S0ulasiy»Aco

0.0

0.0

0.0

0.0

0.0

0.0

1380

3.8 T3ACTS3E 43 A3RTAV3T3Y 1A303pYailY»i (140
1381 + 140 1382) 3
Atal’

7442

10,000.0

10,000.0

10,000.0

10,000.0

14,463.8

14,463.8

1381

UTCA3 T Ta0AI3Y, A363Y - &AI3Y CAZTa0YuaT yCuCT3T3Y
3Y03Y606 ~* T3HUST»A&40AIasYY»fco NSU30YugY,
»AgCYCE »YAST= piade»w=ICY NGUYSATY»AC TYAAGYUSYY
3Y6=31 - 460G (NCUYST3Y UCgad T3U 44 YIaA3T3Y 3T Ci
i=Y10e=640) Ci=640UC6 ~* TASUST3Y UCca6Y»fACo
T3ACT 3t IBE&»AC yoY3Ye3TanUu=Y (=u=h (=U=(vag
plade» eW=6T=31 VA imA’ TASUSIATST SAT3UCY
=0plasAY»fAco

10,000.0

10,000.0

10,000.0

10,000.0

14,463.8

14,463.8




1382

UTCAZTTa0AI3Y, A363Y - a0AI3Y CASTaYUAT yCUCT3T3Y
3Y03Y606  T3%UST»A&4BAIAYY»fCo NSU3(YUgY,
T»AGCYCE »YAST= piadc» w3ICY NGUYSATY»AC TYAACYUSYY
37631 -460uC (NGUYST3Y UCgad T3U 44 YIasAZT3Y ST CT
iN=Y10e=640) CA=6400C6 ™ 1ABUST3Y UCCa6Y»fGo
T3ACTSE IBEé»AC CAsT3Y36U3Y (=U3h (=U3(vac
plase» 636131 Vaswimi WASUSIATST Y»AucY
30plasAY»fco

0.0

0.0

0.0

0.0

0.0

0.0

1390

3.9 2[E » T304 Y»A (rad
1391 + 140 1392 + 140 1393)
3(1 ATas0

7452

254,650.0

254,650.0

1,008,301.3

254,650.0

254,650.0

2,122,089.8

216,020.6

212,117.7

3,902.9

1391

D3U=(YUC - A0IUCY =3 Tx3E=T TY36Y»iC
+4EN=T1400400C0 UG U»fi

0.0

0.0

0.0

0.0

3,902.9

3,902.9

1392

TSESToY WAterC BNGETICY YAVACo YATSICT paien
T3 13740 N3 T3645UY»AC6 VA u»h

1,008,301.3

1,008,301.3

2,122,089.8

2,122,089.8

0.0

0.0

1393

Uf»YUAT ™ CAZT3T3Y 3(E ST »far e2NU3Yi3T N303(vuc
ulase»C Uadmru= - iU3Y »YASTS 3(E »T3VAT W Y»fi

254,650.0

254,650.0

0.0

254,650.0

254,650.0

0.0

212,117.7

212,117.7

0.0




p2pi°oTiasAlasy

p2g20Ugk ~Uateck 12E&°8E T2T28020 19827 °5U=2E

(-anT=63T3Y 1363731 U=30)

(01/01/2016 - 31/12/2016A. A2U=3Y=3T2(37TT=1¢ N=3U=d)

P3Ti=12

Of"3Y 4203U¢ 373 -3Y40
2017 AT3T3Y¢ USAWG 17-C

N 680-U anasu=y

((=%=h 17=04T)

T3 N2evaTi= &=y TR T2V B i=1 &L=V 6361260
x| 7= [BaU| .| Claserw3iCY 2EexAC -anT=63T3Y 136372402 A1B VA o 130V o AY130»YA o
1800 poy | w0 |- §3ACY$»ﬁC, EUMAC ~* 138»AiC SYFSVAUT»iA AVERIYA _ SlAmal AVEEUYA SR A _ cPAal
NN T3AE3T3Y plade» | yayr=(gY plase» 13ha313Y yay13(cy 13Aa3T3Y pladc» yay13(cy
ulase» plase» ulase»
(6.7 +&8) (6.10 + &11) (6.13 + &14)
1 2 3 4 5 6 7 8 9 10 11 12 13 14
AU _2@°UA 12Eé°8
2000 | X X X ("402100+ 1402200+ 1402300+ 402400+ 1402500+ 1402600+ 78,369,530.5 78,209,530.5 1,168,301.3 78,269,754.1 75,694,536.0 4,697,307.9 78,481,116.0 76,050,996.8 2,430,119.2
1402700+ 1402800+ 1402900+ 1403000+ 1403100
AU _b20a66 ~UasUAL b2062ULU T2&20a0A0as00°8
2100 o1 [ 0 | 0 |(rabe110+wa02120+va02130+ 1402140+ 4402150+ va02160+wa02170+w | 8,703,708.8 | 8,184,741.5 518,967.3 8,607,121.3 | 8,092,263.0 | 514,858.3 | 7,623,841.8 | 7,282,580.4 | 341,261.4
402180)
= A&l
GA»YE1CA - ART31CA USAUGYY»ii, B» T3T3Y T363 137400,
20| oo | 1| o YoYSYesTSY ~ Nhl=latc>3ICY NSnSu»fashiasiVoh, 8,265,543.1 | 7,957,584.8 307,958.3 8,192,274.3 | 7,884,616.0 | 307,658.3 | 7,346,322.1 | 7,108,782.2 | 237,539.9
SATSUCT NS A4sAIaY o
anco’
an| o | 1 | 1 GR»Y&1Ch - 4RT=1CA USAUGYY»A,&»r=T=Y T26=12rss) | 8,265,543.1 | 7,957,584.8 307,958.3 8,192,274.3 | 7,884,616.0 | 307,658.3 | 7,346,322.1 | 7,108,782.2 | 237,539.9
12| o | 1| 2 agY=veaT=Y - RAT=plasey 1=I0Y (2A=p»naAlastVoh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2113 | o1 1 3 2AT30CY N3A3p»iiacAlasyy»n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2120 | o1 2 0 2ATSACY WY »E3T3Y (- YasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ance’
2121 | o1 2 1 2AT30CY TYI»E3T3Y 3¢3T640Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
@Cc31-3CY THUST»f
el M N TYIE=13Y 0- VasAlaoY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
30| o1 | 3 | o AVAR=Yah pYaslAG T=6=lasAlasyV»n 92,595.7 92,286.7 309.0 93,577.0 93,577.0 0.0 90,520.5 90,520.5 0.0
AfiCo”
ma| o | 3 | 1 T () Afafi=vatn YeolAc 92,595.7 92,286.7 309.0 93,577.0 93,577.0 0.0 90,5205 90,5205 0.0
2132 | o1 3 2 TA3-AUSBY ~ ICx3T3-AST3Y AV2R3Vash 1363(46A145Y Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2133 | o1 3 3 AY1=Va5R pYadlAG 3(E T=6=3(a0A145YY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2140 | 01 4 0 AYLN3Vaoh uYaslAC N»r3%anr3T3Y SRE3T3Y0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AfiCo”
21| o0 | 4 | 1 AVANSYaR pYatIAG b v AT =TS SEESTSVY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AVAN=Ya0n RVa0AC NSYASICY 1261a0AIa0VV»AC - 14T
2150 o1 | 5 | o ooy - yata. 200y SHE=r 10l 210,700.0 0.0 210,700.0 207,200.0 0.0 207,200.0 | 103,721.5 0.0 103,721.5
AfiCo”
AVAR=Vash pYaslAC N=VA=igY =6=lathlactV»fi - 14t
as1| o | s | 1 oA T2y - (ot [0 SGE Yo 210,700.0 0.0 210,700.0 207,200.0 0.0 207,200.0 | 103,721.5 0.0 103,721.5
amo | ou | e | o | A ey PSRN ] 134.870.0 134,870.0 0.0 114,070.0 | 114,070.0 0.0 83,277.7 83,277.7 0.0
AfCo"




AVAR=Y&0R pY&dlAC NSVASICY T=6S140AIaoYYofi (SIE 13emicY

2161 | 01 1 S TI3V40) 134,870.0 134,870.0 0.0 114,070.0 114,070.0 0.0 83,277.7 83,277.7 0.0

2170 | o1 0 E>W3T3Y A3FAWUC - T4T -afT36Ya0Alasy Vi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCG"

2171 | o1 1 A>T3T3Y A3AW0C - TAT -anT3évashlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

T26313a0AI3Y T3p»n USTSAL3TY»AC UG CAST3Y36140

2180 [ 01 0 AVIRSYVAGH WYVAGIAC WASYEy»FToh 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Elieo)
T362134a0A03Y T3fpsA USTIATSTY»AG UG CAsT3Y36140

2181 01 1 AVARSVAGH pYASIAC TRSV&y o1 ¥or 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4fgo"

2182 | o1 1 - 1=U2RYARNY»fi DD &» I =T3Y plase»CY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2183 | o1 1 - 1A3U3RYAANY»A DD 3{E NSUSIVO»AG pladgrY»icy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2200 | 02 0 _azpiazlacAlacl 42,000.0 42,000.0 0.0 41,000.0 41,000.0 0.0 19,134.7 19,134.7 0.0

(1402210+2220+ 7402230+ 1402240+ 402250)
S At&D

2210 [ 02 0 &e3%U3T3Y &3RTA3Y40Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCG"

2211 | 02 1 &e3%U3T3Y &30 TA3Vashlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2220 | 02 0 2303036C3T3Y A3 wa3Yashlasy 16,000.0 16,000.0 0.0 16,000.0 16,000.0 0.0 14,222.6 14,222.6 0.0
ARCG"

2221 | 02 1 23030360313 A3FTA=VavAlasy 16,000.0 16,000.0 0.0 16,000.0 16,000.0 0.0 14,222.6 14,222.6 0.0

2230 | 02 0 2AT30C0Y 63%U3T3Y (- VasAlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCO"

2231 | 02 1 2AISACY 63%U3T3Y (- YasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

PrUSRAT3ITIY ~ YIES. [3(CY SREST3VUY»i

2240 | 02 0 A=rTA=VAsAI2Y daRTAcl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afGo"

21| o2 1 DrUSHATSTIY " VIES- I/SU;‘Z :Il};jr?'m\'(»ﬁ A3RTaA3YaAI3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2250 | 02 0 A3RTASVaAlAY (3 136»ACY 23T T3Y40) 26,000.0 26,000.0 0.0 25,000.0 25,000.0 0.0 4,912.1 4,912.1 0.0
afico’

2251 | 02 1 A3RTASYaAIAY (S 136»ACY 223 TT3Y40) 26,000.0 26,000.0 0.0 25,000.0 25,000.0 0.0 4,912.1 4,912.1 0.0

p2825212120 1287, 2017120720A0a00 = _ 272120
2300 [ 03 0 Ta51a6UcasAlasl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(402310+ 7402320+ 1402330+ 1402340+ w 402350+ 1402360+ W402370+0
3[* ATl

2310 | 03 0 D3E3ASIST3Y 13- ~ 3V w3V - 46Alasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afco"

2311 | 03 1 A8TCI3YanAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2312 | 03 2 2y 30V 3YTT3Y - 46AlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2313 03 3 aT3T3Y a3a3Vashlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2320 | 03 0 ORT3A3A 13¢3(a0AlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afgo"

2321 03 1 BAI3A3A T363140Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2330 | 03 0 L3TST3Y - 4iTacY»a0Alasy ~ CA3T3T3Y A3R T a3YasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
Eliee)

2331| 03 1 L SUSASYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2332 | 03 2 EA=T=T3Y 32RTA=V40AlAY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2340 | 03 0 . 3T3E3%40Ala0Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afgo"

2341 | 03 1 . 3T3E3%a0AlaY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




2350 | 03 5 0 T3E3V21=(»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’
2351 | 03 5 1 T3E2V=273{fvA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
D ISHATIT3Y 45 YIES - [3(CY SRESTIYUY»A
200103 6 |0 R=e=R3T2T2Y T2A-C ~ 2V T2V atkl=Y atarrao 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’
DrIT3BATITIY 46 YSES - I3(CY SEESTIV0Y»A NSe3ASTIT3Y
S 130G~ SV Ty adl=Y stanva) 0.0 0.0 00 0.0 0.0 0.0 0.0 0.0 0.0
2370 | 03 7 0 USE30YYasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afco’
2371 | 03 7 1 U=SE=0YYasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
P3&3ASTSTIY 13h- ~ 3ViT3Y-40AlasY (3 136»ACY
2380 [ 03 8 0 i8S TI=Y40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’
D2ESASISISY 120- ~ 3YTw=Y - aAlady (S 136»ACY
2381 03 8 1 ESTI2V40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TUTe82T20 252" 25a0AUa0UU°8
2400 | 04 0 0 | (1402410+ 7402420+ W 402430+ 1402440+ 1402450+ 1402460+ wa02470+w | 10,360,610.5 | 14,321,255.8 -3,960,645.3 9,566,440.4 | 12,380,498.1| -2,814,057.7| 7,861,252.3 8,874,656.2 -1,013,403.9
402480+ 1402490)
3{1 Afaol
AVIRSYAGR HYAUAC WY T»E3T3Y, 36 TA3ICY ~ SREST3VA0
i IRl N - 147 R=ASuRashlastVon 0.0 0.0 00 0.0 0.0 0.0 00 0.0 0.0
anco’
2411 | o4 1 1 |AVAR=Vash uYaslAc TYI»e3T3Y ~ 3¢ TA3ICY 3A=p»iasAlasyV»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2412 | 04 1 2 [2RE3w3YiC Mo T3AT3T AV23Yasn puyaslAc N3A3u»iacAlasyY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4031V I»eahlasy, SV T=¢3(CY TYT»easAlasy,
2420 [ 04 2 0 OTVARGAGAIASY - AneaRs AaAI&GY 88,350.0 0.0 88,350.0 88,350.0 0.0 88,350.0 70,362.4 0.0 70,362.4
anco’
2421 | 04 2 1 Tlasd=wyir»eashlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2422 | 04 2 2 2Yr363(¢Y abAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2423 | 04 2 3 OTVarieasAlasy - aneafirasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2424 [ 04 2 4 aéa- a0l 88,350.0 0.0 88,350.0 88,350.0 0.0 88,350.0 70,362.4 0.0 70,362.4
2430 | 04 3 0 T2EEQU " (Vofi-» WIS 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’
2431 | 04 3 1 g3i2T&E 3 T2ATA pY=T3Y 126»ECu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2432 | 04 3 2 U=TASUA»f0 "~ pY=T3Y -3% 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2433 | 04 3 3 BCcadT=ICY T=é»ECu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2434 | 04 3 4 T36»ECUC 3E T»E3TY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2435 | 04 3 5 WE»TTAZ YA -C2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2436 | 04 3 6 ad ITAST3Y (Vo -2 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2440 | 04 4 0 | E»éY==3i1{a5Y=2N3Y40U, 3hitlasy3p»facAlasy = RCY=2hA3racAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’
oaa1| oa 4 1 DIYUS(CY é»eatneY»ic 3ﬁ10?g{é3hg;i;éal], p3636a0AIB U pY3T3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2442 | 04 4 2 2[1)45Y 3 p»iaAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2443 | 04 4 3 PCY31i=31aoAlany 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2450 [ 04 5 0 TH=Yedann 14,224,524.2 | 13,184,132.1 1,040,392.1 13,212,321.8 | 11,025,342.1| 2,186,979.7 | 9,683,464.3 7,591,052.2 2,092,412.2
anco’
2451 04 5 1 x3Y2E3ANB(CY Th3VedanT 6,459,534.0 5,517,534.0 942,000.0 6,000,466.9 | 3,911,879.3 | 2,088,587.6 | 5,514,700.9 3,517,505.7 1,997,195.2
2452 | 04 5 2 ®A3CY TH3YeA4RT 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2453 | 04 5 3 ORT2Aa03CY TASYEAART 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0




2454 | 04 G130y TA3YeAART 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2455 | 04 Ealai3T3R3a3(CY - Sl wAsYedann 7,764,990.2 7,666,598.1 98,392.1 7,211,854.9 | 7,113,462.8 98,392.1 4,168,763.4 4,073,546.5 95,216.9
2460 | 04 T=a 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AGO"
2461 | 04 T=a 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2470 | 04 2[f py=-3i36Y»i 20,000.0 20,000.0 0.0 20,000.0 20,000.0 0.0 19,945.0 19,945.0 0.0
ARCO"
P»1212E " UBYAST2E 267400, SAaA=YuY»i¢ &=la=vasl -
2471 | 04 A fE T 14RE 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2472 | 04 DlasR3YaoY»ii -~ NSE3ASTIT3Y &YV1G Gul»TwY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2473 | 04 YVipae=piicasAlasy 20,000.0 20,000.0 0.0 20,000.0 20,000.0 0.0 19,945.0 19,945.0 0.0
2474 | 04 Yi3fi- 36U3Y u3BU3VAST3T 173 - finfi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
TYT»E3T3Y N3A3p»AacAlasYY»ic - TaT N»13%av3T3yY -
2480 | 04 YSES - [300Y SEESTSVATA 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afige’
AVIN3YaoH pYaslAC WY T»e3T3Y, 3¢ As3lCY ~ SRE3T3VU¢
81 08 RSA6HAG - TAT TSk T3Sy ~ YSES. [3(Y SgEST3Vavmh 0.0 0.0 0.0 0.0 00 0.0 00 0.0 0.0
4021V 1»840AI3Y, SV T=263{0Y TYI»8a0AI=Y, OTYaReaAl=Y
2482 | 04 afieantasAl=y - Taf > r3par=13y -~ y2E=. 130V 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SRESTIVUY»i
FBESECUC ~ (Yoft-»WCTIG - TAT o I 3%aw3T3Y = Y3E3 - 30V
2483 | 04 ’ SpE=T=Y0Tmn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
E»eY33A1{45Y3N3YU3Y, 3n1{46Y3p»nacAl3yY — BCY3ASacAISY
2484 04 -TaT sy =T=2y = Y3E=. [3(0Y SRE=TSVui»h 0.0 0.0 0.0 0.0 00 0.0 00 0.0 00
TASYERARTC - TaT N> 133ar3T3Y -~ Y3ES . [3(¢Y
2485 | 04 Ry Yot 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2486 | 04 T3AC - 141 > ISpaw3T3Y ~ Y3ES. [3(0Y SEEST3VAY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2 W= - STS6YM1C - TAT KW SHaTST3Y * YSES - [3(GY
287 04 SpESTSVAf 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2490 | 04 TYT»E3T3Y N3i3p»iacAlacyV»i (SIE 13e»AcY ad=wT3va0) | -3,972,263.7 1,117,123.7 -5,089,387.4 -3,754,231.4 | 1,335,156.0 | -5,089,387.4| -1,912,519.4 1,263,659.1 -3,176,178.4
afigo’
2491 | 04 TYI»E3T3Y (3A3p»iasAlasy Vi (S 13e»AcY 4a31T3Y40) -3,972,263.7 1,117,123.7 -5,089,387.4 -3,754,231.4 | 1,335,156.0 | -5,089,387.4] -1,912,519.4 | 1,263,659.1 -3,176,178.4
pde212 PEe=1208F a2pTa20acAlasl
2500 | 05 (¥400510+ ¥ 402520+ ¥ 402530+ ¥ 402540+ &02550+'402560) 7,630,860.8 7,520,860.8 110,000.0 7,778,516.1 | 7,668,516.1 | 110,000.0 | 7,609,709.8 7,529,904.4 79,805.4
SEATaD
2510 | 05 20p=N=Yasl 5,490,806.8 5,460,806.8 30,000.0 5,592,462.1 5,562,462.1 30,000.0 5,436,824.2 5,436,824.2 0.0
ARCG"
2511 | 05 20p=N=YaiU0 5,490,806.8 5,460,806.8 30,000.0 5,592,462.1 5,562,462.1 30,000.0 5,436,824.2 5,436,824.2 0.0
2520 | 05 T»OT3¢iniic N»e=6400 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCG"
2521 | 05 T»0T=3¢Ax»AC »é=6adl 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2530 | 05 PiAcST= UGe=T3IAC S0TawU3Y 150 &300=d 38,683.0 38,683.0 0.0 38,683.0 38,683.0 0.0 38,567.0 38,567.0 0.0
ARCG"
2531 | 05 PAcET= UCe= T3¢ 20wawU3Y 1»U &3u=d 38,683.0 38,683.0 0.0 38,683.0 38,683.0 0.0 38,567.0 38,567.0 0.0
2540 | 05 TrYe3u3KU3%3YA0AI3Y ~ pYasAlsY A3Rwa3VasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afigo’
2541 | 05 TrYe3u3KU3%3Ya0AIBY ~ uYaiAl3Y a3rra=Yashlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
bic=T= UCe= T30 AR TASYATAISY - 14T o Shan =137 ©
2550 | 05 VSES. [3CY SIES TSV 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
afgo"
o - PAc=3T= UCc3T3(AC A3RTASYAGAISY - Tai b r3%aw3T3Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

Y=E=- 130V SREZT2Y0V»A




pAGET= UCe= 120 A=RTA=Ya0AlA0Y (20E 2=e»ncY

2560 | 05 A 1=740) 2,101,371.0 | 2,021,371.0 80,000.0 2,147,371.0 | 2,067,371.0 | 80,000.0 | 2,134,318.7 | 2,054,513.3 79,805.4
AfCo"

2561 05 pigST= UGe=13lA¢ ASRTASYasklany (SIE 13¢»AcY s&=wT=va0) | 2,101,371.0 | 2,021,371.0 80,000.0 2,147,371.0 | 2,067,371.0 | 80,000.0 | 2,134,318.7 | 2,054,513.3 79,805.4

“02T262020£0 PEU252520A0a00 @1 Tagaslze
2600 | 06 12e2020A0200 10,507,228.9 | 9,036,249.6 | 1,470,979.3 | 12,016,126.4 | 7,877,213.1 | 4,138,913.3 | 12,096,944.0 | 11,018,341.0 | 1,078,602.9
(1403610+1403620+ 1403630+ 1403640+ 1403650+ 1403660)
ST Atai

2610 | 06 “V=T=A=V=0Y reY=hA=nashlasy 86,100.0 16,100.0 70,000.0 165,600.0 30,600.0 135,000.0 | 147,325.9 21,980.0 125,345.9
AfCo"

2611 06 “Y=T=AsYSICY fgY=nSnasla 86,100.0 16,100.0 70,000.0 165,600.0 30,600.0 135,000.0 | 147,325.9 21,980.0 125,345.9

2620 | 06 P3U3YU3IGY %3 - 26400 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AfCo”

2621 | 06 D3U3|YU3{CY %3 - 26450 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2630 | 06 @N=U=TT=0=n400 5,121,648.0 | 5,121,648.0 0.0 6,508,942.1 | 3,849,028.1 | 2,659,914.0 | 7,142,102.2 | 7,142,102.2 0.0
afco’

2631 | 06 e 5,121,648.0 | 5,121,648.0 0.0 6,508,942.1 | 3,849,028.1 | 2,659,914.0 | 7,142,102.2 | 7,142,102.2 0.0

2640 | 06 54086V~ £406= 1anad 2,370,043.8 | 2,363,043.8 7,000.0 2,458,389.4 | 2,451,389.4 | 7,000.0 | 2,376,499.6 | 2,369,999.6 6,500.0
anco’

2641 06 5a0A6Y>C Ease=Tanadl 2,370,043.8 | 2,363,043.8 7,000.0 2,458,380.4 | 2,451,389.4 | 7,000.0 | 2,376,499.6 | 2,369,999.6 6,500.0

“V=T=3R=2Y2(0Y RCY=i=nashi=Y ~ Tavasy=t 1=6=140A0a6YY»AC

2650 06 T4 fr iy - Y= [0y SEEa TN 20,000.0 0.0 20,000.0 20,000.0 0.0 20,000.0 12,149.0 0.0 12,149.0

anco’
“YT2ASYSICY GYSASAaAISY  Talan St T=eaAlasTe

e B AT o d gy - Y. Foig] SRE=v=TaTml 20,000.0 0.0 20,000.0 20,000.0 0.0 20,000.0 12,149.0 0.0 12,149.0

2660 | 06 sy 126NN | 9 909,437.1 | 15354578 | 1,373979.3 | 2863,1949 | 15461956 | 1,316999.3 | 24188674 | 14842503 | 934,608.1
anco’

2661 | 05 Ty=T=REv=icy BGYBﬁZﬁfﬁgﬁi@izg)r3é3“é6A“é6YY>’ﬁ GEl 29004371 | 1535457.8 | 1,373979.3 | 2,863,194.9 | 1,546,195.6 | 1,316,999.3 | 2,418,867.4 | 1,484,250.3 | 934,608.1

2ga0z2a2pacAlacl
2700 | 07 (A2 10+ D27 200 4RSI VRO TAO YA AS2T60) 293,500.0 12,000.0 281,500.0 433,500.0 52,000.0 381,500.0 | 386,880.5 50,000.0 336,880.5
= Araa0

27110 | 07 “ARISTSY SARSVUY»h, 63hrh ~ 63AU= TaRA0UY»A 71,500.0 0.0 71,500.0 71,500.0 0.0 71,500.0 55,420.1 0.0 55,420.1
anco’

1| o7 0= aAT=T=2Y =&F=0Y»h 71,500.0 0.0 71,500.0 71,500.0 0.0 71,500.0 55,420.1 0.0 55,420.1

2| o7 2If PART=T=Y S&ASVaT»h 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2713 o7 “ARTST3Y &3fl»i -~ 83AUSTaRa0UY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2720 | 07 2AT2NCT2Y12Y462(0Y 126=2(40A146YV»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’

2721 | o7 Av1fi=VasA uYaslAG pART=T=Y 1=263(40A146YY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2722 | 07 @36Y2-CT36131 pART3T3Y 1363[40A140YY»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2723 | o7 eTaUSTAEA- CITSY T26SlaohlasTVn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2724 | 07 AShepATI =TSV 126laAa0VV>n 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2730 | 07 BCT3Y13Y4623(CY T=26=2(40A046YY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AfiCo”

2731 | o7 AV1=Yash pyaslAc NGT=Y13Vao3gY 1=2630a0AlaoY Y»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2732 | 07 @36Y3-CT36131 NCT3V13Y463(0Y 1=263140A140YV»ii 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2733 | 07 “ART3T3Y, V4R~ USYI3Y T»YTRAYY»A¢ T363(40Ala0YY»f 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

P BCTSYAG EVSUNG ~ S6a06a0AISY »A=T=Y -YUSY TYIGY 00 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

1=363]a0AlaoYY»ii




2740 | 07 4 0 P2YAZ(CY 2640¢2A3N=2T3Y 1=26=3(40A145Y Y »fi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARC6"
2741 | 07 4 1 D2YAZICY 26a0c2a3N212Y 1=263(40Al40YY»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ol o7 | s | o | Z¢806=A=RaAlSY -iaf bw=haw=T=y ~ V=g [=igY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 00 00
SRESTIVU»i : : : : : : : : :
AiC6"
asi| or | s | 1 =eabg=a=Nadi=y - 181 o shar=rsyyags. 1=y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
SRE3T3YuY»ii
2760 | 07 6 0 2640¢=2a3M4a0AlacY (S(E 136»ACY 3A3TT3Y40) 222,000.0 12,000.0 210,000.0 362,000.0 52,000.0 310,000.0 331,460.4 50,000.0 281,460.4
ARC6"
2761 | 07 6 1 2640¢343N=T3Y (33106 1363(46A140Y V>~ 1A= - finii 222,000.0 12,000.0 210,000.0 362,000.0 52,000.0 310,000.0 331,460.4 50,000.0 281,460.4
2762 | 07 6 2 26a0¢=a3NacAlany (3lE 13e»AcY 4831 T3Ya0) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
p20T£ET, Zp2TacUA ©i Taal
2800 | 08 0 0 (WAO2B10+VA02820+ ¥ 402830+ 1402840+ ¥ 402850+ 402860) 3,406,350.1 2,575,350.1 831,000.0 3,123,101.9 2,5633,101.9 590,000.0 2,857,125.3 2,502,531.9 354,593.4
S ATal
2810 | 08 1 0 D3Y-6WC " 8AANTC 1363[40AI45YY»A 585,899.9 204,899.9 381,000.0 344,899.9 204,899.9 140,000.0 302,410.8 203,824.4 98,586.4
ARC6"
2811 | 08 1 1 D3Y-6WC T 6AARWC 1=6=3(40Al40YY»A 585,899.9 204,899.9 381,000.0 344,899.9 204,899.9 140,000.0 302,410.8 203,824.4 98,586.4
2820 | 08 2 0 BR3TAAZ(CY T=63140A145YY»h 2,753,125.2 2,303,125.2 450,000.0 2,711,877.0 2,261,877.0 450,000.0 2,488,662.5 2,232,655.6 256,006.9
ARC6"
2821 | 08 2 1 TASLSA=YY»ii 452,291.2 452,291.2 0.0 452,291.2 452,291.2 0.0 452,291.2 452,291.2 0.0
2822 | 08 2 2 A3Y-3A3VV»ii 6456363V »fi 253,038.5 253,038.5 0.0 267,757.5 267,757.5 0.0 267,753.5 267,753.5 0.0
2823 | 08 2 3 BRITAHIAC WY»f, STAUpY»A, T>Y I RAYY»f 111,245.0 111,245.0 0.0 111,245.0 111,245.0 0.0 110,982.7 110,982.7 0.0
2824 | 08 2 4 1,438,270.6 988,270.6 450,000.0 1,386,706.1 936,706.1 450,000.0 1,169,003.5 912,996.6 256,006.9
2825 | 08 2 5 472,629.9 472,629.9 0.0 473,227.2 473,227.2 0.0 473,227.2 473,227.2 0.0
2826 | 08 2 6 TCY»U3Ta- i3y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
27| o | 2 | 7 | PAESROSYDACTUBSTAARCY SWALLAC HASTSY-VaU T 25,650.0 25,650.0 0.0 20,650.0 20,650.0 0.0 15,404.4 15,404.4 0.0
20| o8 | 3 | o es3a” Mrgater=f=0anatlvang fhesno=To=y - 36,000.0 36,000.0 0.0 36,000.0 36,000.0 0.0 35,997.0 35,997.0 0.0
NAST3ASTEST3Y 13é63(a0AladYY»f
ARCO"
2831 | 08 3 1 D»€aie T 3631CaN=04an140UY»A 36,000.0 36,000.0 0.0 36,000.0 36,000.0 0.0 35,997.0 35,997.0 0.0
2832 | 08 3 2 PAST3A3Taa0AIa6YY»1, EUUS - AdoAlasYY»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2833 | 08 3 3 T>O 12T T40AI2Y O»étp»fiasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2840 | 08 4 0 TRAYST3Y " N3e3AST3T3Y 3{E 1363(40A140YV»A 31,325.0 31,325.0 0.0 30,325.0 30,325.0 0.0 30,055.0 30,055.0 0.0
ARC6"
2841 | 08 4 1 OACT2E2AL2T2Y TA=-fnfi 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
220=0=T3Y Ta8=1640A140YY»f, N=2e3/=3T=T=3Y
2|08 a2 TSUISImiaaclan»h, SANUCAIAIAGTT»i 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2843 | 08 4 3 TRay=T3yY ~ (=263/3T3T3Y 3(E 1363(40A045Y V1 31,325.0 31,325.0 0.0 30,325.0 30,325.0 0.0 30,055.0 30,055.0 0.0
D3Y-&wC, URSTA0IAC ~ TRAYC - TaT »T3%ar313Y
2850 08 | 5 | o Yot o [2i0] S 20 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
_ _ ARCE"
D=Y-6WC, UB=TAGAG ~ TRAYC - 14T N> T SVAT=T3Y
51| o8 | 5 | 1 Yaba f=iy Spearatarn 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
2860 | 08 6 0 D3Y- e, UB3TAGA ~ TRAY (S(E 13e»AcY a&3TT3Y40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARC6"
2861 | 08 6 1 D3Y-Cew, UB3T40IA ™ TRAY (3 13e»ACY 2431 13Y40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
T8Aa6A00U
2900 | 09 0 0 [ (ra02910+ 71402920+ 1402930+ 1402940+ 1402950+ 1402960+ 1402970+ | 28,592,638.1 | 26,676,138.1 1,916,500.0 28,019,621.1 | 26,243,836.1| 1,775,785.0 | 27,307,781.1| 26,055,699.7 1,252,081.4
402980)
S ATal
2910 | 09 1 0 U=E=13{46=313Y ~ T2Aa=T=Y AV2(=Vasn ThAasAlasy 15,039,616.9 | 14,839,616.9 200,000.0 14,603,914.1 | 14,428,914.1 175,000.0 | 14,301,845.4| 14,243,794.6 58,050.7
ARC6"
2011 | 09 1 1 U=E=181a6=T=Y ThA4sAlaY 7,873,965.3 7,673,965.3 200,000.0 7,863,862.7 7,688,862.7 175,000.0 7,561,794.0 7,503,743.2 58,050.7
2012 | 09 1 2 T2AR=T2Y AVLN=Yash ThAasAlasy 7,165,651.6 7,165,651.6 0.0 6,740,051.4 6,740,051.4 0.0 6,740,051.4 6,740,051.4 0.0




2920 | 09 @CeY=T30- AVIN=Yaon TrAasAlasy 9,069,256.1 9,069,256.1 0.0 8,904,480.0 | 8,904,480.0 0.0 8,904,480.0 | 8,904,480.0 0.0
ARCO™

2921 | 09 BOUYST3Y AV1N=Yaor TrA&sAl&sY 8,816,454.2 8,816,454.2 0.0 8,655,246.7 | 8,655,246.7 0.0 8,655,246.7 | 8,655,246.7 0.0

2022 | 09 BCCYST=0- ERCT) AVARSYao TrAasAlasy 252,801.9 252,801.9 0.0 249,233.3 249,233.3 0.0 249,233.3 249,233.3 0.0

USEY2T3Y U2eY=2-Cr3T3Y (BAl»61= - 4RT1=3T3Y) ~ UGeCY

2030 | 08 Uy Cra1= TAAoRANY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCH™

2931 | 09 USEY3T3Y U36Y=2-Cr3T3Y (313 - af1313Y) ThAaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2032 | 09 BGeCY UBeY= - Cr313Y ThAasAlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2940 | 09 ~3A0A= - 400V TRA&GAIAGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AMCo"

2041 | 09 “ 3013 - 400V UBeY=2 - Cr313Y TrA4sAlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2942 | 09 Dy WPAIN3T3Y U3eY=2-Cr3T3Y TrAasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2950 | 09 AST UST3A13TY»iAG 41363130 - 140 TiAdoAlasY 3,512,438.3 2,732,438.3 780,000.0 3,5660,317.3 | 2,876,032.3 | 684,285.0 | 3,392,253.5 | 2,873,114.7 519,138.8
ARCO™

2951 | 09 2AT314A463T3Y 136w (C3A=TasAlaY 3,512,438.3 2,732,438.3 780,000.0 3,560,317.3 2,876,032.3 684,285.0 3,392,253.5 2,873,114.7 519,138.8

2952 | 09 Efi=6466C4 TrAaoAIAGY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2960 | 09 TAA&SAI=YA TA=0=17140 0A=Y13T 1=63(40Ala0YV»A 971,326.8 34,826.8 936,500.0 950,909.7 34,409.7 916,500.0 709,202.2 34,310.4 674,891.9
AfCO"

2961 | 09 ThA&AISYA TH=U317740 0ASY13T 136340140y Y»ii 971,326.8 34,826.8 936,500.0 950,909.7 34,409.7 916,500.0 709,202.2 34,310.4 674,891.9

TrA&sAI=2Y aEafTasl N»T3%aT3T23Y ~ Y2E=- [3(¢Y

2070 | 09 pav ol 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

ARCG”
THAGAI=Y 4fafmasy N»1T2%ar3T3Y ~ Y2E=.- [3(cY

2071 | 09 PRk 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

2980 | 09 TriAaoAlaoy (3lE 13e»AcY a&3 1 T3Y40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCO™

2981 | 09 TriA&oAlaoY (S 12e»ACY 2a31T3Y40) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

8a0£2E2T20 &2pTa20a0A0A0U
3000 [ 10 (1403010+ 7403020+ 1403030+ 1403040+ 1403050+ 1403060+ 1403070+ | 1,874,811.8 1,874,811.8 0.0 1,866,170.2 | 1,865,861.2 309.0 1,789,622.1 1,789,324.0 298.1
403080+ 1403090)
ST A&l

3010 | 10 13136a0¢adAlasy ~ 3YSRE3TA0Y3TaoAlasY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’

3011 | 10 1371 3640¢40AIa6Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3012 | 10 2Y3RE3TAY3Ta0Al4sY 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3020 | 10 T »nacAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ACE”

3021 [ 10 T »fiaoAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3030 | 10 D3A3%3WCY TaRoA=T 3Y0CYu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AfCO"

3031 | 10 D3{3%L3WCY Tan6A=1 =YOCYu 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3040 | 10 AYT3YGUC 3Y130Y»A ~ %3 T3TV»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCG”

3041 | 10 AYT3YGUC 3Y130Y»f " %2 T31V»A 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3050 [ 10 4R 13%A146A046Y 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCO™

3051 [ 10 TanT=2%ATasAlasy 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

3060 | 10 “YSTSA3Y3(CY 28341450 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
ARCE”

3061 | 10 “YST3A3Y3(CY 24341400 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

a7 | 10 eaogsEsTSY “3"'é6!§3ﬁflf};‘§1‘gf‘ﬁw”ﬁ (B r=ency 670,014.4 670,014.4 0.0 708,153.3 | 708,153.3 0.0 649,922.1 649,922.1 0.0
ARCO™

3071 | 10 846C3E3T3Y N340l 3iwaVasAlacyVxh (SIE 13e»ncY 670,014.4 670,014.4 0.0 708,153.3 708,153.3 0.0 649,922.1 649,922.1 0.0

2080 | 10 646C3EST3Y A3RTASYAAISY afariasl N»r3nawsTsy - 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0

YSES. S0V SRESTSYav»i




4fico"

£40C3E=1=Y A=RTA=VAAI=Y dfarasl > r=ywan=1=y -

s081| 10 o 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
AfCo™

w090 | 10 Sa60SESToY ASTTASTakia (SE 1oenncy sa=1Tovad) | 1.004.797.4 | 1.204.797.4 0.0 1,158,016.9 | 1,157.707.9 309.0 1,139,700.0 | 1,139,401.9 208.1
Anco”

3001 | 10 ca60tSToY AT asTailasy (SE 19encY A= TT=Va0) 364,189.4 364,189.4 0.0 3652169 | 364,907.9 309.0 362,377.0 362,078.9 208.1

240CSEST=Y ASTTA=VaRSYA TTSUS1A 140 0AS1ST
3092 | 10 TP e AU 840,608.0 840,608.0 0.0 792,800.0 | 792,800.0 0.0 777,323.0 777,323.0 0.0
a0 | 1 DEGU=T=0 ~2AR00°GED f‘.;;'j? a2paoeT20k0 0al.°8 | g 9578715 | 7,966,122.8 0.0 6,818,156.7 | 8,940,246.5 0.0 10,928,824.3 | 10,928,824.3 0.0
31 AT4oU°

w10| 1 0P 362 rnashi=y - FSUSIVaTHAc asfassrsici yar: | 6,957.8215 | 7,966,122.8 0.0 6,818,156.7 | 8,940,246.5 0.0 10,928,824.3| 10,928,824.3 0.0
Anco”

sz 1 o0 NSUSIVUYAAC ASNAETSICY yars 6,957,8215 | 7,966,122.8 0.0 6,818,156.7 | 8,940,2465 0.0 10,928,824.3| 10,928,824.3 0.0




b=2pi

EVAUEG;
p2@2U0gk ~Uade ok 12E6°5E T2T25020 19627 °5U2E

(FYT»62-CT23T3Y 1263737 U20))
(01/01/2016 - 31/12/2016A. A3U=Y=2T=2(=7T=21¢ N=3U=h)

P3Ti313

of =Y 13030¢ 373 -3Y45
2017 AT3T3Y¢ USAWC 17-C

N 680-U anaru=y

((=y=7 1A=047)

- . ) o o T3 13Y NSer3 0121 Ar=Y T2 12Y xR0 121 aE=Y O=61=00
(460> T=ICY T2EE»AC WY1 »83 -Cr=T3Y 1363134 U3Y
~ ~l1,3/’ fi ~ < e ( RT460)° ~ < e ( RT460)° P RS < e Il AfasU
740G Nari=1Y»fi¢ AVI3UYA S(r Atadu AVI3UnYA S(r Atadu AVLI3UnYA ST Atadu
NN - (6.5+6.6) 2RI 3Y JAYLZ(CY (6.8+8.9) 2RI 3Y AY13(CY (6.11+6.12) i3RiZ[3 AY13(CY
P—— " =T [ yar=ly =T | yar=ly T [ Ay
use use use use use u3e
1 2 3 4 5 6 7 8 9 10 11 12
AU_2@°UA T12Eé°d
4000 (1 404050+ 1405000+ 140 6000) 78,369,530.5 |78,209,530.5 | 1,168,301.3 | 78,269,754.1 |75,694,536.0 | 4,697,307.9 | 78,481,116.0 |76,050,996.8 | 2,430,119.2
S A&l
2 AUA20ET 12Eé°d
4050 | (T404100+ 1404200+ 1404300+ 1404400+ 1404500+ X 77,201,229.2 | 78,209,530.5 0.0 73,572,446.2 | 75,694,536.0 0.0 76,050,996.8 | 76,050,996.8 0.0
T404600+1404700)
31 ATaoU”
4100 |1-1 ZPE2T2Ugk 12602Toa0AUa0U X 6,401,177.2 | 6,401,177.2 X 6,319,108.4 | 6,319,108.4 N 5,788,254.7 | 5,788,254.7 N
("a04110+wa04120+1404130)
31 ATaoU”
_52pa1 1026120 2PE2T21280°8 ©1 D21°E210250°0
A10 | e A0 12s 404124) X 6,401,177.2 | 6,401,177.2 X 6,319,108.4 | 6,319,108.4 X 5,788,254.7 | 5,788,254.7 X
4RCO"
aqqq | ZBEFTAOVHAC SRESTSTZA0A 7 NETHEAY»A 4111 | 56426388 | 56426388 X 5,560,570.0 | 5,560,570.0 X 5,127,427.9 | 5,127,427.9 X
arnp | 2000 SANAUYN, IASUSTEY ERSEQOUGATNSTAT | 405 | 7585384 | 758,538.4 X 7585384 | 7585384 X 6608268 | 660,826.8 X
4114 | -20E T3A0=TRA0AIAGYY»fi 4115 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
120 | 0°0°U 2PEZ121250°6 ©1 D219E210200°6 (1404121) ) 0o 00 N 00 0.0 N 00 0.0 N
aRCo"
4121 | -7 Y»0»Y SREST2T210»7 " NS I»E2 Tx3AAV»f 4121 0.0 0.0 0.0 0.0 0.0 0.0
4130 O26T20L éa0k2E212U 2a2baiadAu=2U 1020U°0 (1a0d4131) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
ACo"
4131 | -B40C3EST3Y SASNATA0AISY 1xSAV»h 4131 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1.2 1262020A0a00U 8K ©1 2a020gU°kK 0°8s ~ ©0aid
4200 |(T404210+wa04220+ 1404230+ 1404240+ 1404250+ W404260) X 31,299,750.5 |31,299,750.5 X 13,018,387.4 |13,018,387.4 X 12,538,631.1 | 12,538,631.1 X
31 A0
P25200212120 12E8°0
4210 |(wa04211+ 7404212+ 7404213+ 7404214+ 1404215+ 1404216+ 71404217) X 7,945,457.0 7,945,457.0 X 7,958,582.7 7,958,582.7 X 7,805,530.9 7,805,530.9 X

anco’




-ail=eY=3T=2Y " u=VYT=20Y 1=26=0a0A1a0YY»AC 1=Eé»f

4211 4211 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

1212 | -WVon > W CT 156 1a0AA Vo 4212 311,514.1 3115141 X 311,875.6 311,875.6 X 262,593.1 262,593.1 X

4213 | TaUAGY=E 156=1a0RIa0 Yo 4213 | 7,127.8489 | 7,107,848.9 X 7.123,094.9 | 7,123,094.9 X 70938411 | 7,093,84L1 X

1214 | T2AC 1262Ta0AlA0V R 4214 231,712.3 231,712.3 X 249,455 249,2455 X 188,101.4 188,101.4 X

1215 | PASNATS - A=T=Y T5Eenn 4215 166,104.4 166,104.4 X 166,610.4 166,610.4 X 156,490.9 156,490.9 X

4216 | -Ta8IUC ~ &3AuSTanA0UY»AC TSAOSTSEA0AIASY 4216 108,277.3 108,277.3 X 107,756.3 107,756.3 X 104,504.4 104,504.4 X

4217 | -2AW 3 - »AST»8aS13Y I3Eé»h 4217 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
7261 200200U°BE ©1 Poa=2Ua0AUR0UUCE 126698

4220 | 1 e eeaaz s acun) X 68,548.0 68,548.0 X 67,548.0 67,548.0 X 28,367.2 28,367.2 X
&GO

4221 | -U»AUCY - AT &00A00Tw T 4221 48.0 48.0 X 48.0 48.0 X 48.0 48.0 X

1222 | 2R =ESN0STI=Y - AnTA00800Y-iC - 141 15Eenh 4222 68,500.0 68,500.0 X 67,500.0 67,500.0 X 28,319.2 28,319.2 X

4223 | -20E TASYeAART3ICY I3Eé»i 4229 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
A20020=1620&0 2UE 1282030A0a00U°3E 0°8p ~ ©8300

4230 Slfé%‘ffsz;*'5‘04232+'a°4233“a°4234+'5‘04235““4236*”04237* X 17,671,708.1 |17,671,708.1 X 1,418,588.5 | 1,418,588.5 X 1,354,603.5 | 1,354,603.5 X
anCo

1231 | 1 SESToY 126=TaAa Voh 4231 3,054.1 3,054.1 X 3,238.1 3,238.1 X 1,495.9 1,495.9 X

4232 | DEUST=R-2510Y 126=1a0AIA0V VT 4232 37,3410 37,341.0 X 37,3410 37,341.0 X 36,943.0 36,943.0 X

4233 | ToBESTSTSAUC USEYS-Cr=T=y wfi- 2603y 4233 4,510.0 4,510.0 X 4,510.0 4,510.0 X 4,314.3 4,314.3 X
13é3(a0AladYY»n

1234 | 0= T 13137 156 10AATVon 4234 62,0121 62,212.1 X 48,062.1 48,262.1 X 37,890.0 37,890.0 X

4235 | 126> =127 12651a0AIa0 Voh 4235 10,000.0 10,000.0 X 3,000.0 3,000.0 X 2,790.0 2,790.0 X

2236 | ° I1»Y6=303UCY " N3YA3ICY eYYLC 1=e=3ladAladYY»h 4236 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

1237 | -UniT=156a065=T=7 15Eenh 4237 132,181.9 132,181.9 X 134,181.9 134,181.9 X 1282178 1282178 X

4238 | AVAN=VaoR pYaolAC S T=6=TasAlacyioh 4239 | 17,422,209.0 | 17,422,209.0 X 1,188,055.4 | 1,188,055.4 X 1,142,9525 | 1,142,9525 X

4240 (f_zgzjf)uzﬂﬁz'zu 12e2Ua0AUaslUosE 0%¢s ~©6300 X 83,193.4 83,193.4 X 83,493.4 83,493.4 X 69,415.8 69,415.8 X
&GO

1241 | -B=67= - CraT=Y 1263 1a0Aa0 Vo 4241 83,193.4 83,193.4 X 83,493.4 83,493.4 X 69,415.8 69,415.8 X
AUAZOET UadaT300 ©1 A2ba=UaoD (1=6=1a0Aavinn -

4250 Va5hnf) (rad4251+¥404252) X 49252411 | 4,925241.1 X 2,925,923.4 | 2,925,923.4 X 2,794,496.4 | 2,794,496.4 X
ACo

agsy | PPYURG T I=EadoY»AC AYASOCT Yana-a00 = a3Na=Yall | o) | 46478166 | 4,647,816.6 X 2,653,185.9 | 2,653,185.9 X 2539,572.3 | 2,539,572.3 X

apsp | JORYSHIG T ESNUSTANAIUYINC AVA=OCH Yana- &b - a2 | 2774245 | 2774245 X 2727375 | 272,7375 X 2549241 | 254,924.1 X
U026A%5

4260 | (1a04261+1404262+ 1404263+ 1404264+ 404265+ T 404266+ 404267+ X 605,602.9 605,602.9 X 564,251.4 564,251.4 X 486,217.5 486,217.5 X
'I'éf)4268)
ACo

4261 | R=EVIST3IGY VIathon ~ N> - G066 4261 92,5751 92,575.1 X 89,559.4 89,550.4 X 68,008.3 68,008.3 X

4262 | -104603TYT»E3T3Y BAA3YUY»A 4262 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

sz | TPIZASWISENUSY T 408406USY VAR (SEESTAORAC 1563 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
I»Ai=a3Tn3érail)

1264 | TASVERATYSIGCY VIAhHR 4264 249,950.8 249,950.8 X 246,179.9 246,179.9 X 220,087.9 220,087.9 X

4265 | -biic=T= UCc= T3¢ A3RVASTAGAISY ~ -CTST3Y Vidohni | 4265 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4266 | 26a0c=RSN=T=Y ~ ERpan=Tan Viasknn 4266 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4267 | To16=031CY ~ RSYASICY 6YV2C Yiabhnn 4267 23,707.5 23,7075 X 21,905.9 21,905.9 X 16,725.3 16,725.3 X

4268 &1 YA 113007 S Viabhoh 4269 239,360.5 239,369.5 X 206,606.2 206,606.2 X 180,496.0 180,496.0 X

4300 2621028U°8 (va04310+7140 4320+ a04330) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

S Aral:




4310 [U°8g£U TaTaé2i0280°8 (1ad4311+1404312) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco’

4311 | -U»AagY SAA»A0A»AC TaTaé=3 1x3AY»h 4411 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4312 | -U»A0CY T3AT»AC TATAES Tx3AY»h 4412 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4320 [26T2g£0 TaTaé2i0280°8 (va04321+1ad4322) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco’

4321 | -2AW3UCY 3AA>AOASAC - TAT TATaE3 Tx3AY»h 4421 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4322 | -2AW3UCY T3AI»AC - 1AT WAlaeS 1x3AY»i 4422 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
6aE=ea0A0200U°8k DOT 12a121 10250°8

4330 | o 133l rAOM332 T A04333) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco’

4331 -OAE3Y31U3Y l1adié»nC u=3063e313Y T3Au»fadAlady 4431 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4332 | -TadlA»f 4432 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4333 | -64E=3640Ala0YY»AC - TAT WadAU»h 4433 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4400 1.4 820 &£, £20°8 (1a04410+1404420) X 18,094,376.2 [18,094,376.2 X 33,844,134.4 [33,844,134.4 X 33,655,005.7 | 33,655,005.7 X
S ATad0"
éad” ek, £20°8 a°T212U (b2@20Ue2ULU)

4410 |2y 52 Ton20A0a0000BEU (vad4alLrradasiz) X 17,943,076.2 |17,943,076.2 X 33,696,834.4 | 33,696,834.4 X 33,507,729.7 |33,507,729.7 X
anco’

aany | CAOHECTCTIN 83 YOTSYESISY Qw=TSY (WBUSUSICY) 1 451y | 179254362 | 17,925,436.2 X 33,673,231.5 |33,673,2315 X 33,484,474.6 |33,484,474.6 X
13%U31»faadAladYY»ncY

a1 | [SEOHECTCITHN YEYSTESTSY w13V (WSUSWUSEY) 4512 17,640.0 17,640.0 X 23,602.9 23,602.9 X 23,255.1 23,255.1 X
13%U=31»fiaadAladYY»ncY
ea0” ek, £20°8 aa a°1=12U (aa b2p200g20£U)

20 | o ToBaa0AUAIIUOBED (vadAa21 vad4422) X 151,300.0 151,300.0 X 147,300.0 147,300.0 X 147,276.0 147,276.0 X
anco’
e —

21 ygégfg;%s??eijiuegr;ﬁ A aaz”\u(;savg»#ngu iev) aa 4521 151,300.0 151,300.0 X 147,300.0 147,300.0 X 147,276.0 147,276.0 X
-BABHECIC=Yn 44 B» W =13Y (a3 h=U3V0=ICY)

422 | ymvastsy TSHISToRAGAIANTHACY 4522 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4500 |1.5 _82@2bUasbpUos (Ta04510+ 1404520+ 1404530+ 1404540) x 937,648.6 937,648.6 X 907,811.8 907,811.8 X 871,294.0 871,294.0 X
3(1 Afail
. 8202p0aspUos 28081802 T26212620A0260U°8£U

4510 |0 s am11era0as12) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
ance’
-AYA=26CT TASU3RYARNY»A 0 3A»ATAIS

4511 |6 fnashlaVVmicy 4611 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
-TBACT3E 1A3USRYAANY»A 00 SA»ATAIS

9512 |56 fanashlanVVmicy 4612 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
. 0202pUasbUos BEe2v120E0 T2%g2To84a0A0a0UU°8£U

4520 |2 0 a1 rada522) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco’
-AYA=6CT 1A3U3RYAANY»A UGe3%-3(CY

4521 | T30S T»AA40AIAGY Y»ACY 4621 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
-T3ACT3E 1A3USRYAANY»A UGe31- 3(CY

4522 |5 T AOAIANTACY 4622 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
AUA2OET _562@2pUashUoes a°T2T20 p2Ti21£ 2UE

4530 | oo 2TUOBED (¥a04531+ 1404532+ +a04533) X 937,648.6 937,648.6 X 907,811.8 907,811.8 X 871,294.0 871,294.0 X
anco’
“AYASOCT TnSUSRYARNY»A BT 3T13Y ~ NSUSIVUY»AC A2

4531 [3€TASICY T3%U3TrAasAlasY Y»fcY 4637 23,591.0 23,591.0 X 37,858.9 37,858.9 X 37,858.9 37,858.9 X




- AYA=6CT 1A=U=2R/Y4ANY»A 8» T =T3Y " R=203(YuY»Ac

4532 |3€WASICY T3%03T»&40Al4a0YV»fGY 4638 66,781.6 66,781.6 X 66,781.6 66,781.6 X 66,781.6 66,781.6 X
- 2[f AYA=6CT 1A3U3RYARNY»A

4533 (V40 4534+140 4535 +W40 4536) 4639 847,276.0 847,276.0 X 803,171.3 803,171.3 X 766,653.5 766,653.5 X

4534 [3(E N=30U=YaY»AcY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4535 | - DD B» 1 =1=3Y plaic»CY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4536 | - 3l 847,276.0 847,276.0 X 803,171.3 803,171.3 X 766,653.5 766,653.5 X
T2A£T2E , 5202p0asbUos a°T2T20 b2Ti21£ 20k

4540 1g2T25 _2TU0skU (1404541+1404542+1404543) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco’
T2AC0T=E 1n=03RVAANY»A B 12137~ NSUSIVUY»AG ad

4541 |3€TASICY T3%03THA40A46YV»ACY 4655 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
T2AC073E 1A3USRYARNY»A &»3T3Y ~ N3US(YuY»Ac

4542 |3€WASICY T3%03TA40A46YV»ACY 4656 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
2 T2ACT =t 1A2U=0VARNY»h

4543 (40 45444740 4545 +740 4546) 4657 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
31 ATaoU”

4544 |DD 3{E N30U3VUY»AcY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4545 | - DD 3»T313Y plaigrCY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4546 | - 3 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1.6 6a0k2E2T20 Ua26TU°s ©i ToUe2Aap2TU°8

4600 | - 54610 A04630++A04640) X 1,510,162.6 1,510,162.6 X 1,566,264.6 1,566,264.6 X 1,193,765.8 1,193,765.8 X
31 ATaoU”

4610 |62a0£2E2T20 252paia0AU20 Ua2&TUos 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
31 ATaoU”
- TY3(CY WY »8a0AlasYY»ACY 1A=0AT Tx3fTa0

4610 AR SR AL el . 0.0 X 0.0 0.0 X 0.0 0.0 X
EAOC3E3I3Y 333NATAAIBY ix3iAY»ii 4711 0.0
- BA0C3E3T3Y 3A3NATAAISY uY»0»Y YA3EWY»h

4620 |- oo TS AR . 0.0 X 0.0 0.0 X 0.0 0.0 X
12¢3(40A086YY»fi U3 145640Y»ACY 4712 0.0
620£2E2T20 1MU0a0A020 _ 8202120 2572020Ta0A020~

4630 |UA26TUCS (" UadeCE0) (Ta04631+ 1404632+ 1404633+ 1404634) X 1,510,162.6 1,510,162.6 X 1,566,264.6 1,566,264.6 X 1,193,765.8 1,193,765.8 X
afico’

4631 | -DA0O3AT3 TaRA0AIBY YA3&WY»A plaic»Co 4726 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

1632 1AAZ13Y, UR2T140A3ICY ™ éA&NT3ICY YA3ETY»i pladc»Co 4727 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4633 | -~ YSTSASY3{CY YASEWY»A pladse»Co 4728 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

4634 | -20E YAZETY»i ulasc»Co 4729 1,510,162.6 | 1,510,162.6 X 1,566,264.6 | 1,566,264.6 X 1,193,765.8 | 1,193,765.8 X

4640 | 1°U62Aap2TU°S (1404641) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
afico’

4641 | -T»Yé3AaR3TY»fi 4741 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1.7 2UE 12E&°5 ] ]

4700 |(¥804710+7404720+W404730+ 7404740+ 1404750+ 1404760+ w404770) | x 18,958,114.1 |19,966,415.4 0.0 17,916,739.6 | 20,038,829.4 0.0 22,004,045.5 | 22,004,045.5 0.0
31 ATaoU”
Ui£62T120A02000°6 aa 12821262120 (p2626212120)

4710 |T2%22T°38a0AU0UUCSEU (1404711+1404712) X 1,129,062.5 1,129,062.5 X 1,693,021.4 1,693,021.4 X 1,644,114.9 1,644,114.9 X
afico” X X




- TY3CY Y 1»840AIa6YY»ACY 13é63(40A140YY»A U3 140640
R=NadlA al» 1 =2aY1a0 T3%hU3T»AA40AIA6YY»ACY

4711 YTCA=T T46AI&6YY»h 4811 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
-UTCA3T Ta0AladYY»f 3k R3NadIA aN»Tr34&Y140
4712 |22 imrassAlanyi»AcY 4819 1,129,062.5 | 1,129,062.5 X 1,693,021.4 | 1,693,021.4 X 1,644,114.9 | 1,644,114.9 X
D231°5, a2512_ £d 10250°8 °1 TabUA<S, adals
T2e2125020 725" °5 92125 _2TUO8k TaODES TES2&1460
4720 |oy) gEpUZU0 UT2T020" (r4047211 w0472+ ¥ 4047234 a04724) X 115,577.2 115,577.2 X 95,294.2 95,294.2 X 72,104.9 72,104.9 X
anco"
4721 | -2BEST3T3i0C yavs 4821 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
4722 | -2[E N2Al»A 4822 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
4723 | -A=ANS1CA (x3AY»h 4823 115,577.2 115,577.2 X 95,294.2 95,294.2 X 72,104.9 72,104.9 X
-A»T3T3Y BT3¢ T3Aprh UST3A13TY»A¢ 1a0UC6
4724 |0 imv6 ViS00 Toi=61 a0 Watlhwf 4824 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
_2125200°8% 12000 UP202T121 TaUAS3 ©1
4730 |5 =008 (r404731) X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
anco"
4731 - BU3A3YY»AC Ta0UC6 YR3Y3TiI=1 wailA»A ~ Tad- 3YuY»h 4831 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
“U2120 20°TU°BE0 120 2UE - U2120 a210280°5a1
4740 |2e222021 10260°56% T20 102612100°84 X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
126212090208 (1404741+1404742)
ANCo"
YST3Y 30»TY»AC0 363¢3631 Y33 TUY»AC T3U
4741 | [y=6Y»AC T»>AST=Y- Y400 4841 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
-2E uY3T3Y 837 x3éY»RaT 613631 Y313 1UY»AC
4742 |, o=y Vasl 4842 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1282125020 P23@E00°SE Tad 1 a0U°a0A020
4750 [POTO12Ugal 28222021 1U26U0°8L 120 102812100°84 X 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
1°62T209020@ (1404751)
ANCo"
T363T3AU3Y USAUCYY»AC - ARTAGY»A0AIBY N» o "3YUAT
4751 |B€3¢36=31 TY3ET3TUY»AC T3U TY36Y»AC i»A3T3Y - YAl 4851 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
4760 | 2UE 12E&°8 (1404761) X 10,755,652.9 | 10,755,652.9 X 9,310,267.3 | 9,310,267.3 X 9,359,001.3 | 9,359,001.3 X
ANCo"
4761 | -2k T3Eé»f 4861 10,755,652.9 | 10,755,652.9 X 9,310,267.3 | 9,310,267.3 X 9,359,001.3 | 9,359,001.3 X
4770 |&2Dacé12UEU PEeaoU°d (TaDA771) X 6,957,821.5 | 7,966,122.8 0.0 6,818,156.7 | 8,940,246.5 0.0 10,928,824.3 [10,928,824.3 0.0
anco"
4771 | -a=Na661=1CY UCGaoY»h 4891 6,957,821.5 | 7,966,122.8 0.0 6,818,156.7 | 8,940,246.5 0.0 10,928,824.3 | 10,928,824.3 0.0
32 A1a00° N2U3VUC pladesC 12ma=12Y US6C A=Naoe 1 =0y
4772 |yAY1c6 yavr=icy U=e T=1=2iad I=r1=6400Y»h X 1,008,301.3 | 1,008,301.3 X 2,122,089.8 | 2,122,089.8 X 0.0 0.0 X
~. aa ukU20ée2T20 2TTEIUOBE TT1ai
5000 12Eé°5 X 6,262,688.7 X 6,262,688.7 | 9,791,695.3 X 9,791,695.3 | 5,611,107.3 X 5,611,107.3
(T405100+71 405200+ 1405300+ 1405400)
31 ATaoU”
5100 |11, PEGU=12U BE2a0U=3 X 6,157,688.7 X 6,157,688.7 | 9,691,695.3 X 9,691,695.3 | 5,511,486.8 X 5,511,486.8

(1405110+71405120+71405130)

[ ATa0




poUges ©1 bEUadAUasUUCS

5110 | 0 o1 1081 405113) x 5,180,523.6 X 5,180,523.6 | 8,743,144.9 X 8,743,144.9 | 4,862,709.4 X 4,862,709.4
afiCo”
5111 | - P»YU»AG ~~ RCYAGAIAGYY»AC 0»él u»fiadl 5111 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5112 | - P»YW»AC " BCYASAIAYY»AC 1=€a66adu 5112 1,185,000.0 X 1,185,000.0 | 2,673,310.5 X 2,673,310.5 426,608.8 X 426,608.8
5113 |~ P7YAG T BCYAOAIAOYY>RC ISACWSE Di=Yana- o B3 1 39955236 X 3,995,523.6 | 6,069,834.4 X 6,069,834.4 | 4,436,100.6 X 4,436,100.6
@ogo(2U°s ©1 82821ada60U°d
5120 |(ya05121+ 1405122+ wA05123) x 746,245.1 X 746,245.1 721,130.4 X 721,130.4 532,907.0 X 532,907.0
afico’
5121 | - TA=YEAANT=ICY 6=AU=TaR&0UY» 5121 22,200.0 X 22,200.0 33,185.3 X 33,185.3 31,185.0 X 31,185.0
5122 | - 120a=13Y 63A0=1aR&00Y»h 5122 104,053.0 X 104,053.0 107,953.0 X 107,953.0 74,597.2 X 74,597.2
5123 | - ZUE U»U»Y3Y»A €303 TanacuyY»fi 5129 619,992.1 X 619,992.1 579,992.1 X 579,992.1 427,124.8 X 427,124.8
2k pAGU2T20 geacUed
5130 | (740 51314740 5132+7w40 5133+ T405134) X 230,920.0 X 230,920.0 227,420.0 X 227,420.0 115,870.5 X 115,870.5
ANCo"
5131 [ -2x»0740 STTCTY»A 5131 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5132 | - 2 YIa0AST=Y NCUY=T3Y UGcaoY»h 5132 220.0 X 220.0 220.0 X 220.0 0.0 X 0.0
5133 | - T»A»%C3T3Y USAT»%3 - AZ1T3Y 13Eéx»i 5133 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5134 [ - USES- 130 T30AT3T3Y I3Eéxf 5134 230,700.0 X 230,700.0 227,200.0 X 227,200.0 115,870.5 X 115,870.5
5200 [1-2 82P28U°3 (1405211+1405221+ 7405231+ 7405241) X 105,000.0 X 105,000.0 100,000.0 X 100,000.0 99,620.4 X 99,620.4
= AT400
“P3USIVUSCY YRSV STA0AISY 63v0S ISAST3Y A303AVoR | 5211
5211 U=l aATEY e STEERA 00 X 0.0 0.0 X 0.0 0.0 X 0.0
5221 | - Ul40A»f =" &3/ - 3Y»f 5221 105,000.0 X 105,000.0 100,000.0 X 100,000.0 99,620.4 X 99,620.4
5231 | I»A3T3x380C N3U3A YSE3T1»E131 2an3YuY»h 5231 0.0 % 0.0 0.0 X 0.0 0.0 X 0.0
5041 | -€&36U3Y YA3T1=3Tai &3N140 &3R3iY»i 5241 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5300 |1.3 ~ 250028A°g ZTTEIU°S (14D 5311) X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
=3[ AT400"
5311 | -~ 2A0AZAA»U STUCTY»A 5311 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
1.4 42872 _8121 UUSPILEL (rad
5400 5411+ W40 5421+ 140 5431+7405441) X 0.0 0.0 0.0 0.0 0.0 0.0
=3[ AT400
5411 | -pad 5411 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5421 | -AY1»AU3(CY STuCiY» 5421 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5431 [ -2[E pY=3T3Y 13- 46U 46Y»640 STWCTV»A 5431 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
5441 | -3a YIA0AST=Y A=A N =101=1 ST HCTV»h 5441 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
A e o A e A s -5,094,387.4 -5,094,387.4| -5,094,387.4 -5,094,387.4| -3,180,988.0 -3,180,988.0
1. aad GEU=2Ué=212U 2ITETUCBE £620a00£0
6000 |FAOT@°d (1406100+ 1406200+ 1406300+ W A06400) X
(L Aja00
6100 12720 A0 2034 A NAT O,
DEGU=12U @E®aoU0k £520a00k0 JadTo0 X -850,000.0 -850,000.0 |  -850,000.0 -850,0000 | -487,954.1 -487,954.1
(1406110+7a06120+714a06130)
3(1 Afail
6110 |2Ub28A TaoUgk £520200K0 DA6T2°0 8111 -850,000.0 X -850,000.0 -850,000.0 X -850,000.0 -487,948.6 X -487,948.6
6120 |P23A2120 Ta0Ugk £520a00E0 PAGTEOd 8121 0.0 X 0.0 0.0 X 0.0 -5.0 X -5.0




8131

6130 .. . . . 0.0 X 0.0 0.0 X 0.0 05 X 05
20t pEGUZT20 GE2aOUCSE £520ADED BAOTEOS

6200 | &2P=2BUCBE £520a00k0 PA0TES X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
(1406210+1406220)
3(1 Afail

6210 | €2%221232T20 D2020Ug>VEU &2p=5U 3k 8211 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
E520200£0 PAITEO0 ' ' ' ' ' '
20E 22h208U°0k £520a00/0 JaiTa°0

6220 | 406221+ 1T406222+7406223) X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
ARCo"

6221 | - 2AT31AZ13Y A3R3{Y»AC CA=040UC6 VAT Uxi 8221 0.0 0.0 0.0 0.0 0.0 0.0
TINST2x360C N2U=h SAn3Y0Y»AC 680000

6222 |Uatw it 8222 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
- 343 BI3BA YSEST»e131 A3R3BAY»A

6203 | - EATEUSY N2UST YSESIHET=T A3R=AY-AC 8223 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
CA=0640UCo UAd T u»h
S L — S

6300 | -00820A°g ZITET1UGE £5=0a00k0 JadTa0 X 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
(040 6310)
EEYE)

6310 |~ 23082540 2TTET UCSE £52000E0 BATTEOD 8311 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
a287T2_5121 2TTEIUCSE £520200K0 FadTeCd

6400 X -4,244,387.4 X | -4244387.4| -4,244387.4 X | -4244387.4| -2,693,034.0 X | -2,693,034.0
(1406410+ 1406420+ 1406430+ 1406440)
EEYET)

6410 |DAOK £020200E0 JADTZOD 8411 | -4,044,387.4 X | -4,244387.4| -4,044,387.4 X | -4,244.387.4| -2,693,034.0 X | -2,693,034.0

6420 [GTT2T28 p2U2TaUCHE £520200£0 JadTE°d 8412 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
20E - 02120 127200 a00°0a0 DEGUZT20

6430 | e OBE EB20R0BE0 DA THOS 8413 0.0 0.0 0.0 0.0 0.0 0.0
22 UUA0AZT120 22612, 0121 2TTETUSBE

6440 8414 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0

£020a00£0 BadTo°0




b=2pi

1i1a6AUa6U

pP3Ti=14

Of "3V U3030UC¢ 373 -3V40
2017 AT3T3YC USATC 17-C

D2@20Ugk ~UadeCk D2T1CEa0d L 120 &2T126400 £ (_CULOATE) 12128020 19527 °5U2E
(01/01/2016 - 31/12/2016A. A3U=3Y=3T3N=3TT=31¢ N=30U=3)

N 680-U anau=sy

(N=%3A 1A=3U4T)

TS ISY NSETSTi51 &Y SN EEIE S 53813060
L x AY13U»YA AY13U»YA AY13U»YA
'E%C | i Afao) 31 ATasl | S Afaol
1=3na313Y yaY13(CY 1=3na313Y yaY13(CY 1=3na313Y yaY13(CY
(8.4 + &5) plase» TUEL (8.7 + &8) plase» uladc» (8.10 + &11) plase» uladc»
T > 3 7 5 5 7 ) ) 0 T
AU.Z0OUAD=TOEA08 A 120 [ CUROATA | 151 5000 0.0 -150,000.0 | -2,565,218.1 0.0 2,565,218.1 | -1,150,007.8 | 1,261,744.7 | -2,411,752.5
7000 (&a=1=26a60_A)




pzpioTiadAlasl

P3TI=15

O 3Y U3030UC 373 -3V4)
2017 AT3T3YC USATG 17-C

N 680-U afaRu=3y

°5°120 g202¢k D21°EA00, £ GTT2728 1020 260020AUa00UUCSE T20 842128408, £ (, CUEOETE) UEU2082128020 207 Ua08U°8E T2T28020 19827 °3U=2E

(01/01/2016 - 31/12/2016A. ASU3Y3T3N3TT31¢ N3U3A)

((=y=i 173041)

T3> 13Y NBET3Ti31 &3y T3> 13Y xR i31 &E3Y O36U30C
A6y T3ICY TBEE»AC TV T »e3-CT3T3Y 1363T37-0U3Y NALT3S T Vs o N fax ~ 11 i y
. Jade» r3ICY IBEE»AC TYT»E3-Cr313Y 1363131-U3Y Nat131Y»AiC o {1 Afasl {1 Afasl o 31 Afa0"
Ta0C AY2E30»YA A1V h (5 L AY130»YA
e AY130»YA (8.8+6.9) S N N
) . (6.5+6.6) . L. . yavisicy (6.11+6.12) . L.
3YT3Y4aiUY»nA NN 3313y U6 | yavr3(gy Use 135313y U= V=6 3Aa=T3Y U3¢ | yay1s(icy U=e
1 2 3 4 5 6 7 8 9 10 11 12
AU 2@°UA° (ra0 8100+ a0 8300),
8000 (v40 7000 f=T=6=T VR=Yar) 150,000.0 0.0 150,000.0 2,565,218.1 0.0 2,565,218.1 1,150,007.8 -1,261,744.7 2,411,752.5
31 Ajasl
2. 0°8g£0 20~ 0a680°8 (w40 8110+ 140
8100 8160), (140 8000-140 8300) 150,000.0 0.0 150,000.0 2,565,218.1 0.0 2,565,218.1 1,150,007.8 -1,261,744.7 2,411,752.5
3(1 ATaoU"
8110 é'lg’oa)E a0 ok=aoU°s (Va0 8111+wa0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
3(1 Ajapl’
8111| 1.1. 2AA»A0A»A (L263640AI3Up pBAY»TAUE»AC ~ TIACT3E400 3{E 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
U=8Y3T1640A13Y) (w40 8112+7140 8113)
4fCe’
8112] - Aa0=i1460C6 = T»O3u=REAUCO UaTmuxi 9111 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
8113| - NCUY=T3Y -45U=AC U=AadU 6111 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
8120[1.2. 13iT»Ai ~* ~AE37T40AlasYY»i (6206460 ~ U=3fadl) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
(a0 8121+71408140)
3(1 Ajasl’
8121[1.2.1. 1 3fT»f (140 8122+7140 8130) 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
R
8122| - T3AI»AC 6W3640U (w40 8123+740 8124) 9112 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
ER
8123 8» W ST3Y Hladic»Go 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
8124 3(E 30pI45AY»ACE 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
S &W=61=31 13A1»nG NGUYST3Y -aU=3hG U3haoU (1ad 8131+ 140
8130/8132) 6112 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
ER
8131]|DD 8» T 3T3Y pladc»CY 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
8132[3(E 30plasAY»ACY 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
8140[1.2.2. BAE3T T40AIA6YY»f (140 8141+ 140 8150) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
R
— Wase» T3IGY ~aE3T TaDAJA0Y Y»NG 61306400 (140 8142+140
8141(8143) 9112 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4nCe’
8142[DD &» W ST3Y plaie»Co 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
8143[DD 3l NSUSIYUY»AC plddc»Y»Aico 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
- 636131 +aE3TTa0AlasYY»AC - 403G U=hasy (1rad
8150|81514740 8152) 6112 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
4nCe’
8151|DD 8» T 3T3Y plade»CY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
8152[DD 3{E NSUSIYUV»AG plasc»Y»AGY 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
2. UEU2082T20 2TTEIU°8 150,000.0 0.0 150,000.0 2,565,218.1 0.0 2,565,218.1 1,150,007.8 -1,261,744.7 2,411,752.5
8160|(1408161+1a08170+ 7408190+ 1408201+7408202+w408203)
3(1 AaU"




8161

2.1. “BAY» TSR ~ T2ACT=Ea00 = US6V=Toashlasy (a0
8162+W40 8163 + a0 8164)

-150,000.0

-150,000.0

2,433,559.8

2,433,559.8

2,433,559.8

2,433,559.8

anco’

8162

- R3U3VUSUGY é»+3T3Ya0AI3Y p3AY»rale»ic ~ T3AcT3tai
N=3U3Yu¢ U36Y=T640AI3Y CR=646UG6 UATTUx»fi

9213

0.0

0.0

0.0

8163

CAZT. 3Y0. T3YaY31. T3ACW3taiU &»T. UBEY316, &, é»+=T.
(=3Y10e3640 SYRS3AA - 4600C (13636, NaO»AC), 3l ATadlr 3V T3AT
RGY2ASA. U TIY»AG UBEY3Tai»04iUco 363¢36. UGgas-Go
N=3U3YuG pladg» UBeN=3YasUCo Uarnusf

9213

0.0

0.0

2,716,559.8

2,716,559.8

2,716,559.8

2,716,559.8

8164

- u2AY>TaUE»A ~ T2ACT=E400 = U=6Y=2T6a0A10Y Orétp»iiasl

6213

-150,000.0

-150,000.0

-283,000.0

-283,000.0

-283,000.0

-283,000.0

8170

2.2. BAE3TT40Al40YY»A (W40 8171+ w40 8172)

0.0

0.0

0.0

0.0

0.0

0.0

0.0

anco”

8171

- YSEICYalU wizU31ia1=31 ~aE3T140AladYY»AC 1CU=06 6126140
U=asUY»ACo UATTUu»h

9212

0.0

0.0

0.0

0.0

0.0

0.0

8172

- +AE3TT40Al46YY»AC TAZU31A40U

6212

0.0

0.0

0.0

0.0

0.0

0.0

8190

2.3. D3USIYUG pladg»C UCCABY»NG T AnE TG S%3T UVS06anth:
(w40 8191+wa0 8196-140 8193)

300,000.0

0.0

300,000.0

131,658.3

0.0

131,658.3

131,658.3

0.0

131,658.3

=1 ATaou

8191

2.3.1. D=03VaG plade»G 1=na=13Y USEC UGCA0Y»NG 1 3ine 1%UG
337 UY364ait (T40 8194+740 8195)

9320

300,000.0

0.0

131,658.3

0.0

131,658.3

0.0

anco”

8192

TSYAST= ; 4600037 NSUSIVUC HIAdG»C 12Ra=T12Y USEC6 YoEanT
T340 yOV=Ve=TaiU=Y »YAST=, 6313 aycyavesfani==¢i=
AT T4RA0AIAOVY»AC T2 T2AU=YA

0.0

0.0

0.0

0.0

0.0

0.0

8193

- »YAST= ; 460003V N=3U3Vug plase»C yavr3Icy U3e
(w40 8191 - T40 8192)

300,000.0

0.0

131,658.3

0.0

131,658.3

0.0

8194

2.3.1.1 D=USIVIG Wladg»G T=Ma=T12Y USEC T2nmEICHIC SHaT
UYS6ai1 NSRI»W 146 w313 46V I=AC 1-C 1AasAi=Up

9321

300,000.0

300,000.0

114,196.2

114,196.2

114,196.3

114,196.3

8195

2.3.1.2. D2USVUC plaicsG TSRESTSY US6C WSAnETAIC 33T
UY264A1° O S TARTST p26363a»8 YIEAR T3AT2 NSUSVUC
WiaserC TSAEST3Y US6C T2E6»AC yOY=Ve=3Tanl=Y VAST3Tar
N=UT261=1 - 40USAVAC (1S63640AI= 0 +AE 2640 UGGA6Y»AC)
NSRI»>Wa0 w313 AYAS6040 T»AS13A0C6

9322

0.0

0.0

0.0

8196

2.3.2. D2USIYUG HIABG»G YAYI3IGY USEG UGGAGY»NG T 2ine I7G
Uy=64aiir (wad 8197 + wad 8200)

9330

300,000.0

0.0

300,000.0

131,658.3

0.0

131,658.3

131,658.3

0.0

131,658.3

anco’

8197

TS6376 ISMa=T13Y USEG UGGA0Y>AC T S8 172G 31T UVS6anico
yav1=icY U=8 Uarnu=-AUu=Y »VA=T1= - 450=AC (14 8198+ 140
8199)

0.0

0.0

17,462.1

17,462.1

17,462.1

17,462.1

S ATl

8198

D=UIVUC WaderC yav=ICy USEG 1 =mneICHC %=1 UV=6ant
NSRi»W 140 3T N4V I3AC 1-C 1iasAi=Uu

9331

0.0

0.0

17,462.1

17,462.1

17,462.1

17,462.1

8199

D202V pladerC YAYESICY U=EC W2ineTHuC 3% UV=64/1"

O STARTST p=6363808 YSEART TSATS NSUSIVIC plaienC
VATISICY USeC TSES»AC yCY3Ve3 1ail=y YaSTSTal NS T1=6131
- 0USAY»AC (L262640A1= 0 —~AE=640 UGGaoY»fiC)” N3RT»nad T3ff
AYA=60400 T»A=13A006

9332

0.0

0.0

0.0

8200

“T=M=12Y U26C UGCAOY»AC TTElAIG %=1 UV 264106
vavrisicy U= Uamu= - AUSY »VAST= - a0=AA (140 8193)

300,000.0

300,000.0

114,196.2

114,196.2

114,196.3

114,196.3

8201

2.4, D3U3(VaC plade»G yay1=igy USeC ASUSY3T31an 343
UCcadY»AC Wi=U=317ail 1=aa=T3Y U=¢

X

X

X

X

0.0

0.0

0.0

8202

2.5. D=U=IVaC plade»C yav1=igy USeC ASUSY3T31an 3431
UGGa0Y»ACE T=ia=T=Y U=6 Th=US1AT=T UCCA0Y»AC T»A=12A0
yaviiey U=e

0.0

0.0

0.0

0.0

0.0

0.0

0.0

8203

2.6. D3UBVUC piase»G N=RT450 UGcadY»AC UY=64h1Y»AA N3RT»1ad
A=3Usy3T3(37 21400 (T408000- T40 8110 - 40 8161 - Wad 8170-
a0 8190- 140 8201- 140 8202 - w4l 8310)

0.0

0.0

0.0

0.0

0.0

0.0

-1,415,210.3

-1,261,744.7

-153,465.6

8204

aico" T2E&»AC yCY3Ye3TafiU3YA 44500121 N3US3IYUC plade»C
UCCadY»AC I3ii»&lHuC 3531 UY364i1C - a603iA

0.0

0.0

0.0

0.0

0.0

0.0

-114,196.3

0.0

-114,196.3

8300

. 25T2£0 207 02680°3 (w40 8310)

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0

0.0




31 ATa0"

1. baE2eas 9EzaoU°s

8310 (vab 83114740 8320) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 ATas0

8311| 1.1. 2AA»A0A»A (U26=€40AISUp pBAY»TAUE»AC ~ TSACT3E4a0U 3{E 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
U=6Y=1640A12Y) (w40 8312+7wa0 8313)
ARCO"

8312| - Aa03iiTa6UCo ~ W»03p=3REAIUCH UATwuni 9121 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0

8313 - NCUY: Y - &a0=3hc U=3hasl 6121 0.0 X 0.0 X 0.0 X
1.2. i3il» AE3TT40AIA0YY»A (6306400 ~ U3adU)

8320 5 601 440 8340 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
=1 AT4s0"

8321]1.2.1. 13AI»A (a0 8322+740 8330) 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0
anco’

8322| - I3il»iC W=064il 9122 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0

8330| - €W=61=1 I=nI»A¢ NGUYST13Y_-a0U=f¢ U=hadU 6122 0.0 X 0.0 0.0 X 0.0 0.0 X 0.0

8340[1.2.2. BAE=TT40Al46YY»A (140 8341+140 8350) 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0 0.0
anco’

8341 E371140Al46YY»AC 6126400 9122 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X

8350| - EW30131 -AE3TT40AlA0YY»AC - A0U3AC U3hRasu 6122 0.0 0.0 X 0.0 0.0 X 0.0 0.0 X
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